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1. Consider the following statements : 4. Consider the following statements :

1. Jhelum River passes through 1. India has more arable area than
Wular Lake. China.
2. Krishna River directly feeds Kolleru 2. The proportion of irrigated area is
Lake. more in India as compared to
3. Meandering of Gandak River China.
formed Kanwar Lake. 3. The average productivity per
3 hectare in Indian agriculture is
Eg::r k r::cnzo r.-.::; ctt',l;m statements given higher than that in C%lrilna.
(@) Only one f:{:r\:e :gmy of the above statements are
Only tw
g Al?y : (a) Only one
(d) None (b) Only two
(c) All three
2. Consider the following pairs : (d) None
Port : Well known as 5. Which one of the following is the best
1. Kamarajar Port : First major port in India example of repeated fall:l in sca level,
registered as a company - giving rise to present-day extensive
marshland? -

2. Mundra Port Il;z.rrfeif: JRIvAsERF Gnd (@) Bhitarkanika Mangroves

3. Visakhapatnam : Largest container port in (b) Marakkanam Salt Pans
Port India () Naupada Swamp

(d) Rann of Kutch
How many of the above pairs are ;

correctly matched? 6. Ilmenite and rutile, abundantly available
in certain coastal tracts of India, are

(a) Only one pair rich sources of which one of the

(b) Only two pairs . following?

(c) All three pairs (a) Aluminium

(d) None of the pairs (b) Copper

3. Consider the following trees : (c) Iron

1. Jackfruit (Artocarpus heterophyllus) (d) Titanium

2. Mahua (Madhuca indica) 7. About three-fourths of world’s cobalt,

3. Teak (Tectona grandis) a metal required for the manufacture
: of batteries for electric motor vehicles,

How many of the above are deciduous is produced by

trees? . {a) A.rgentina

(a) Only one ' (b) Botswana

(b) Only two (c) the Democratic Republic of the

(c) All three Congo

(d) None (d) Kazakhstan
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8. Which one of the following is a part of

the Congo Basin?
(a) Cameroon
(b) Nigeria

(c) South Sudan
(d) Uganda

9. Consider the following statements :

1. Amarkantak Hills are at the
confluence of Vindhya and
Sahyadri Ranges.

2. Biligirirangan Hills constitute the
easternmost part of Satpura Range.

3. Seshachalam Hills constitute the
southernmost part of Western
Ghats.

How many of the statements given
above are correct?

(a) Only one
(b) Only two
(c) All three
(d) None

10. With reference to India’s projects on

connectivity, consider the following
statements :

1. East-West Corridor under Golden
Quadrilateral Project connects
Dibrugarh and Surat.

2. - Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar,

3. Bangladesh-China-India-Myanmar
Economic Corridor connects
Varanasi. in Uttar Pradesh with
Kunming in China. -

How many of the above statements are
correct?

(a) Only one

(b) . Only two

(c) All three

(d) None

XDTG-F-GST/62A

11. Consider the following statements :

Statement-I :
India, despite having uranium
deposits, depends on coal for most of
its electricity production.

Statement-II :
Uranium, enriched to the extent of
at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-IlI is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct Dbut
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

12. Consider the following statements :

Statement-I :
Marsupials are not naturally found in
India.

Statement-II : ;
Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct
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13. ‘Invasive Species Specialist Group’ (that 16. Consider the following statements :
develops Global Invasive Species - '

Database) belongs to which one of the 1. Some mushrooms have medicinal
following organizations? properties.
(@) The International Union for 2. Some mushrooms have psycho-

Conservation of Nature active properties.
(b) The United Nations Environment 3

Some mushrooms have insecticidal
Programme

properties.

() The United Nations World

Commission for Environment and 4., Some mushrooms have biolumi-

nescent properties.

Development
(d) The World Wide Fund for Nature How many of the above statements are
i correct?
14. Consider the following fauna :

(a) Only one

1. Lion-tailed Macaque i Only two

2. Malabar Civet (c) Only three

3. Sambar Deer (d) All four

How mahy of the above are generally

nocturnal or most active after sunset? 17. Consider the following statements
regarding the Indian squirrels :

(a) Only one
' 1. They build nests by making
(b) Only two burrows in the ground.

(c) All three ‘ 2. They store their food materials like

nuts and seeds in the ground.
(d) None

3. They are omnivorous.

15. Which of the following organisms perform

waggle dance for others of their kin How many of the above statements are
to indicate the direction and the correct?
distance to a source of their food?
. (a) Butterflies " (a) Only one
(b) Dragonflies (b) Only two
(c) Honeybees - (c) All three
(d) Wasps (d) None
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18. Consider the following ‘statements :

1. Some microorganisms can grow
in environments with temperature
above the boiling point of water.

2. Some microorganisms can grow
in environments with temperature
below the freezing point of water.

3. Some microorganisms can grow
in highly acidic environment with
a pH below 3.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
" (d) None .
19. Which one of the following makes a tool

' with a stick to scrape insects from
a hole in a tree or a log of wood?

(a) Fishing cat
(b) Orangutan

(c) Otter

(d) Sloth bear

20. Consider the following :

Aerosols

o

Foam agents
3. Fire retardants

4., Lubricants

In the making of how many of the above
are hydrofluorocarbons used?

(a) Only one
(b) Only two
(c) Only three
(d) All four

XDTG-F-GST/62A

21. Consider the following statements :

Statement-I :
Interest income from the deposits
in Infrastructure Investment Trusts
(InvITs) distributed to their investors is
exempted from tax, but the dividend is
taxable.

Statement-II :
InviTs are recognized as borrowers
under the ‘Securitization and Recon-
struction of Financial Assets and
Enforcement of Security Interest Act,
2002’

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

{b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct  but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

22. Consider the following statements :

Statement-1 : .
In the post-pandemic recent past,
many Central Banks worldwide had
carried out interest rate hikes.
Statement-II :
Central Banks generally assume that
they have the ability to counteract the
rising consumer prices via monetary
policy means.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I ,

(¢) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

[ P.T.O.



23. Ffafas wu w fer Hiftw
EF"FI-—_I:
Tt B R 6 e IR, e aiada
¥ e %1 v w4 wed 8 W)
HYA-I :

FTA TR TG ) T J9K A TF |

T 3 8

I w6 aR A, PeafaRes § @ ¥R

T HE 27

(@ FH-1 IR FE-I [ TR F AW
FYF-11, FUA-1 H G =T B

(b) F-1 IR FE-I1 2 O T AW
HYA-11, FIA-1 F GE =R = R

(c) Fu-1Td ® forrg FUA-11 e &

(d) FuA-17Tea § Ferg Fua-11 98 R

24, Y fod 9% f Fafofas 4 4 e @
Tty A Serwm (Riemgsee)’ F @ am
F w9 o o S 27
(a) ‘G AER FHAT H1 HAH
(b) e v yam wonfeEt it Fereeh
(€ ¥=3 w@r 3ir T wER F R Fom
T g JaT
(@) r-% Rrfa deari % wrl e
25, Frefafan am w fEr i
1. W& EF FER
2. et 331 awR (Fia W whe)
3. N9 AR (30 o W)
4. VWiF qaWK
Ift wm &, v & | fear e @7
(@) =€ TH
(b) ¥ A
(c) Faa dH
(d) afi |r

XDTG-F-GST/62A

10

26. Fefifed § A FF-w1 0, ‘@Y FI6 98 @4
H Feheq 1 1 FaTGH qU 87

(@)

(b)

(c)

(@

I8 F U 9 | ¥ a wewm #
foreanfim <t =1, T WS QdEr A
IR, et 3 ofes @@ | I F
e # Sied §, I w1

et &= % 3 Himia FIH W AR
gt # et W g Ff dfmnet
A weer 3 g @ 8

el &9 F o dma I ffﬁm
et P frepma 3 iy et # Tl
iR 3w Fmfim fem w R fea
yafy ¥ fog } [ &, P fog ==
Frfa Frema i A T wera TR H
YT U 8

Hrg Feo Rl &9 % $o dewm § @Y
FH B FO, TEAGH AEHMRAET IR
arft B Ffafal wm =@ @, @fe 2
Fit 6t fafmim s o iR
mm%ﬁqwﬂam%ﬁ-mm
I L

27. Fafafas suEt w fEr fifse .

1.

A EER w0 [ TR (e
ofaféfien) | % fii % fore =pem qusda
Fa I9ed F B |

F e f S wle A wow F w0 d
i =t )

I % $8 S @ s e %
51 @ 9 HieE TEE ¥ e v ®
Gichd!

I & A Frad o T B

(@)
(b)
(c)

¥
Fad A
aft =

(d) g it &



23. Consider the following statements :

Statement-] :
Carbon markets are likely to be one of
the most widespread tools in the fight
against climate change.

Statement-II :
Carbon markets transfer resources
from the private sector to the State.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

_ (b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct  but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

24. Which one of the following activities of
the Reserve Bank of India is considered
to be part of ‘sterilization’?

(a) Conducting ‘Open Market -
Operations’

(b) Oversight of settlement and
payment systems :

(c) Debt and cash management for the
Central and State Governments

(d) Regulating the functions of Non-
banking Financial Institutions
25. Consider the following markets :
1. Government Bond Market
2. Call Money Market
3. Treasury Bill Market
4. Stock Market
How many of the above are included
in capital markets?
(a) Only one
(b) Only two
(¢) Only three
(d) Al four
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26. Which one of the following best describes

the concept of ‘Small Farmer Large
Field?

(a) Resettlement of a large number
of people, uprooted from their
countries due to war, by giving
them a large cultivable land which
they cultivate collectively and share
the produce

(b) Many marginal farmers in an area
organize themselves into groups:
and synchronize and harmonize
selected agricultural operations

() Many marginal farmers in an area
together make a contract with
a corporate body and surrender
their land to the corporate body
for a fixed term for which the
corporate body makes a payment
of agreed amount to the farmers

(d) A company extends loans, technical
knowledge and material inputs to
a number of small farmers in
an area so that they produce the
agricultural commodity required
by the company for its
manufacturing process and
commercial production

27. Consider the following statements :

1. The Government of India provides
Minimum Support Price for niger
(Guizotia abyssinica) seeds.

2. Niger is cultivated as a Kharif crop.

3. Some tribal people in India use
niger seed oil for cooking.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

[ P.T.O.
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28. Consider the investments in the following

assets :
1. Brand recognition
2. Inventory

3. Intellectual property
4. Mailing list of clients

How many of the above are considered
intangible investments?

(a) Only one
(b) Only two
(c) Only three
(d) All four

29. Consider the following :

1. Demographic performance

2. Forest and ecology

3. Governance reforms

4. Stable government

5. Tax and fiscal efforts

For the horizontal tax devolution, the
Fifteenth Finance Commission used
how many of the above as criteria

other than population area and income
distance?

(a) Only two
(b) Only three
(c) Only four
(d) All five

30. Consider the following infrastructure

sectors :

1. Affordable housing

2. Mass rapid transport

3. Health care

4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation (S3i)
initiative focus for its investments?

(a) Only one
(b) Only two
(¢) Only three
(d) All four
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31. In essence, what does Due Process of

Law’ mean?

(@) The principle of natural justice
(b) The procedure established by law
(c) Fair application of law

(d) Equality before law

32. Consider the following statements :

Statement-I :
In India, prisons are managed by
State Governments with their own
rules and regulations for the
day-to-day administration of prisons.

Statement-II :

" In India, prisons are governed by the
Prisons Act, 1894 which expressly
kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

33. Which one of the following statements

best reflects the Chief purpose of the
‘Constitution’ of a country?

{a) It determines the objective for the
making of necessary laws.

(b) - It enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

(d) It secures social justice, social
equality and social security.

[ P.T.O.
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34.'In India, which one of the following

Constitutional Amendments was widely
believed to be enacted to overcome
the judicial interpretations of the
Fundamental Rights?

(a) 1st Amendment

(b) 42nd Amendment

(c) 44th Amendment

(d) 86th Amendment

35. Consider the following organizations/

bodies in India :

1. The National Commission for
Backward Classes

2. The National Human Rights
Commission

3. The National Law Commission

4. The National Consumer Disputes
Redressal Commission

How many of the

constitutional bodies?

(a) Only one

(b) Only two

(c) Only three

(d) All four

above are

36. Consider the following statements :

1. If the election of the President
of India is declared void by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid.

2. Election for the post of the
President of India can be postponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.

3. When a Bill is presented to the
President of India, the Constitution
prescribes time limits within which
he/she has to declare his/her
assent.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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37. With reference to Finance Bill and Money

Bill in the Indian Parliament, consider
the following statements :

1. When the Lok Sabha transmits
Finance Bill to the Rajya Sabha,
it can amend or reject the Bill.

2. When the Lok Sabha transmits
Money Bill to the Rajya Sabha,
it cannot amend or reject the Bill,
it can only make recommendations.

3. In the case of disagreement
between the Lok Sabha and the
Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

38. Consider the following statements :

Once the Central Government notifies
an area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

hunting is not allowed in such area

3. people of such area are allowed to
collect non-timber forest produce

4. people of such area are allowed
traditional agricultural practices

How many of the above statements are
correct?

(a) 'bnly one
(b) Only two
(c) Only three
(d) All four

[ P.T.O.
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39. With reference to ‘Scheduled Areas’

in India, consider the

statements :

1. Within a State, the notification of
an area as Scheduled Area takes
place through an Order of the
President. ;

2. The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the
cluster of villages in the Block.

3. The Chief Ministers of the
concerned States are required to
submit annual reports to the
Union Home Ministry on the
administration of Scheduled Areas
in the States. .

How many of the above statements are

correct?

(a) Only one
(b) Only two
(c) All three
(d) None

following

40. Consider the following statements :

Statement-I :
The Supreme Court of India has
held in some judgements that the
reservation policies made under
Article 16(4) of the Constitution of
India would be limited by Article 335
for maintenance of efficiency of
administration.

Statement-II :
Article 335 of the Constitution of
India defines the term ‘efficiency of
administration’.

‘Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct
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41. In which one of the following regions was

Dhanyakataka, which flourished as
a prominent Buddhist centre under
the Mahasanghikas, located?

(a) Andhra

(b) Gandhara

(c) Kalinga

(d) Magadha

42. With reference to ancient India, consider

the following statements :

1. The concept of Stupa is Buddhist
in origin.

2. Stupa was generally a repository
of relics.

votive and
structure in

3. Stupa was a
commemorative
Buddhist tradition.

How many of the statements given
above are correct? ’

(a) Only one
(b) Only two

() All three

(d) None

43. With reference to ancient South India,

Korkai, Poompuhar and Muchiri were
well known as

(a) capital cities
(b) ports
(c) centres of iron-and-steel making

(d) shrines of Jain Tirthankaras

[ P.T.O.
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44. Which one of the following explains 47. “Souls are not only the property- of
the practice of ‘Vattakirutal’ as animal and plant life, but also of rocks,
mentioned in Sangam poems? running water and many other natural

objects not looked on as living by other

(a) Kings employing women religious sects.”

bodyguards
(b) Learned persons Iassembli.r'xg. in The above statement reflects one of
royal courts to discuss religious the core beliefs of which one of the
and philosophical matters following religious sects of ancient
(c) Young girls keeping watch over India?
agricultural fields and driving away . ;
birds and animals jff Dasdites
(d A king defeated in a battle (b) Jainism
committing ritual suicide by (c) Shaivism

starving himself to death
(d) Vaishnavism
45. Consider the following dynasties :

1. Hoysala ‘ 48. V\:}ho among tI;:e f_ollowing tml:r?i of
ijjayanagara Empire constructed a
2. Gahadavala large dam across Tungabhadra River
3. Kakatiya and a canal-cum-aqueduct several
4. Yadava ‘kilometres long from the river to the
capital city?
How many of the above dynasties D 1
established their kingdoms in early (@ Devarays
eighth century AD? : (b) Mallikarjuna
(@) Only one {c) Vira Vijaya
fb) Omly two (d) Virupaksha
(c) Only three
(d) None 49. Who among the following rulers of
medieval Gujarat surrendered Diu to
46. With reference to ancient Indian History, Portuguese?
consider the following pairs : (a) Ahmad Shah
Literary work Author () Mahmud Begarha
1. - Devichandragupta : Bilhana (c) Bahadur Shah
2. Hammira—Mahakavya : Nayachandra Suri (d) Muhammad Shah
3. Milinda-panha : Nagarjuna . .
3 . i . 50. By which one of the following Acts
4. Nitivakyamrita : Somadeva Suri was the Governor General of Bengal
) . . designated as the Governor General
How many of the above pairs are . of India?

correctly matched?

(a) Only one (@) The Regulating Act

(b) The Pitt’s India Act

(b) Only two :
(c) Only three (c) The Charter Act of 1793
(d) All four (d) The Charter Act of 1833
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51. Consider the following statements in

relation to Janani Suraksha Yojana :

1. Itis a safe motherhood intervention
of the State Health Departments.

2. Its objective is to reduce maternal
and neonatal mortality among poor
pregnant women.

3. It aims to promote institutional
delivery among poor pregnant
women.

4. Its objective includes providing
public health facilities to sick
infants up to one year of age.

How many of the statements given
above are correct?

{(a) Only one
(b) Only two
(c) Only three
(d) All four

52. Consider the following statements in

the context of interventions being
undertaken under Anaemia Mukt
Bharat Strategy :

1. It provides prophylactic calcium
supplementation for pre-school
children, adolescents and pregnant
women.

2. It runs a campaign for delayed
cord clamping at the time of child-
birth.

3 Xt provides for periodic deworming
to children and adolescents.

4. It addresses non-nutritional causes
of anaemia in endemic pockets
with special focus on malaria,
hemoglobinopathies and fluorosis.

How many of the statements given
above are correct?

(a) Only one
(b) Only two
(c) Only three
(d) All four
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53. Consider the following stateménts s

1. Carbon fibres are used in the
manufacture of components used
in automobiles and aircrafts.

2. Carbon fibres once used cannot be
recycled.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

54. Consider the following actions :

1. Detection of car crash/collision
which results in the deployment of
airbags almost instantaneously

2. Detection of accidental free fall of
a laptop towards the ground which
results in the immediate turning off
of the hard drive

3. Detection of the tilt of the smart-
phone which results in the rotation

of display between portrait and
landscape mode

In how many of the above actions is the
function of accelerometer required?

(a) Only one
(b) Only two
(c) All three

(d) None

[ P.T.O.
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55. With reference to the role of biofilters
in Recirculating Aquaculture System,
consider the following statements :

1. Biofilters provide waste treatment
by removing uneaten fish feed.

2. Biofilters convert ammonia present
in fish waste to nitrate.

3. Biofilters increase phosphorus as
nutrient for fish in water.

How many of the statements given
above are correct?

{a) Only one
(b) Only two
(c) All three
(d) None

56. Consider the following pairs :
Objects in : Description
space

1. Cepheids : Giant clouds of dust and
gas in space

2. Nebulae : Stars which brighten and
dim periodically

3. Pulsars : Neutron stars that are
formed when massive stars
run out of fuel and collapse

How .many of the above pairs are
correctly matched?

(a) Only one
(b) Only two
(c) All three
(d) None
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5§7. Which one of the following countries has

its own Satellite Navigation System?

(a) Australia

(b) Canada

{c) Israel

(d) Japan

58. Consider the following statements :

1. Ballistic missiles are jet-propelled
at subsonic speeds throughout
their flights, while cruise missiles
are rocket-powered only in the
initial phase of flight.

2. Agni-V is a medium-range
supersonic cruise missile, while
BrahMos is a  solid-fuelled
intercontinental ballistic missile.

Which of the statements given above
is/are correct?

(a) ' 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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59. Consider the following statements
regarding mercury pollution :

1. Gold mining activity is a source
of mercury pollution in the world.

2. Coal-based thermal power plants
cause mercury pollution.

3. There is no known safe level of
exposure to mercury.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None
60. With reference to green hydrogen,
consider the following statements :

1. It can be used directly as a fuel
for internal combustion.

2. It can be blended with natural gas
and used as fuel for heat or power
generation.

3. It can be used in the hydrogen
fuel cell to run vehicles.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three

(d) None
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61. Consider the following countries :

1.

2.

Bulgaria

Czech Republic

Hungary

Latvia

Lithuania

Romania

How many of the above-mentioned
countries share a land border with
Ukraine?

(a)
(b)
(c)
(@)

Only two
Only three
Only four

Only five

' 62. With reference to the Earth’s atmosphere,
which one of the following statements is
correct?

(@)

(b)

(c)

(@

The total amount of insolation
received at the equator is roughly
about 10 times of that received at
the poles.

Infrared rays constitute roughly
two-thirds of insolation.

Infrared waves are largely absorbed
by water vapour that is
concentrated in the lower
atmosphere.

Infrared waves are a part of visible

spectrum of electromagnetic waves
of solar radiation.

[P.T.0.
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63. Consider the following statements :

Statement-I :
The soil in tropical rain forests is rich
in nutrients.

. Statement-II :

The high temperature and moisture
of tropical rain forests cause

dead organic matter in the soil to .

decompose quickly.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

64. Consider the following statements :

Statement-I :

The temperature contrast between
continents and oceans is greater
during summer than in winter.

Statement-II :
The specific heat of water is more than
that of land surface.

Which one of the following is correct in
. respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct
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65. Consider the following statements :

1. In a seismograph, P waves are
recorded earlier than S waves.

‘2. In P waves, the individual particles
vibrate to and fro in the direction
of wave propagation whereas in
S waves, the particles vibrate up
and down at right angles to the
direction of wave propagation.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

66. With reference to coal-based thermal

power plants in India, consider the
following statements :

1. None of them uses seawater.

2. None of them is set up in
water-stressed district.

3. None of them'is privately owned.
How many of the above statements are
correct?
(a) Only one
(b} Only two
(c) All three
(d) None
‘Wolbachia method’ is sometimes talked

about with reference to which one of
the following?

(a) Controlling the viral diseases
spread by mosquitoes

(b) Converting crop residues into
packing material

(c) Producing biodegradable plastics

(d) Producing biochar from thermo-
" chemical conversion of biomass

[ P.T.O.
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68. Consider the followiné activities :

1. Spreading finely ground basalt rock
on farmlands extensively

2. Increasing the alkalinity of oceans
by adding lime

3. Capturing carbon dioxide released
by various industries and pumping
it into abandoned subterranean
mines in the form of carbonated
waters

How many of the above activities are
often considered and discussed for
carbon capture and sequestration?

(a) Only one
(b) Only two
(c) All three
(d) None

69. ‘Aerial metagenomics’ best refers to
which one of the following situations?

(a) Collecting DNA samples from air
in a habitat at one go

(b) Understanding the genetic makeup
of avian species of a habitat

(c) Using air-borne devices to collect
blood samples from moving
animals

(d) Sending drones to inaccessible
areas to collect plant and animal
samples from land surfaces and
water bodies

70. ‘Microsatellite DNA’ is used in the case
of which one of the following?

(a) Studying the evolutionary
relationships among various
species of fauna

(b) Stimulating ‘stem cells’ to
transform into diverse functional
tissues

(c) Promoting clonal propagation of
horticultural plants

(d) Assessing the efficacy of drugs by
conducting series of drug trials in
a population
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71. Consider the following statements with

reference to India : ’

1. According to the ‘Micro, Small and
Medium Enterprises Development
(MSMED) Act, 2006’, the ‘medium
enterprises’ are those with
investments in plant and
machinery between ¥ 15 crore and
¥ 25 crore.

2. All bank loans to the Micro, Small
and Medium Enterprises qualify
under the priority sector.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

72. With reference to Central Bank

digital currencies, consider the following

statements :

1. It is possible to make payments
in a digital currency without using
US dollar or SWIFT system.

2. 'A digital currency can be
distributed with a condition
programmed into it such as a time-
frame for spending it.

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

73. In the context of finance, the term ‘beta’

refers to

(a) the process of simultaneous buying
and selling of an asset from
different platforms

(b) an investment strategy of a
portfolio manager to balance risk
versus reward

{c) a type of systemic risk that
arises where perfect hedging is not
possible

(d) a numeric value that measures the
fluctuations of a stock to changes
in the overall stock market

[P.T.O.
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74. Consider the following statements :

1. The Self-Help Group (SHG)
programme was originally initiated
by the State Bank of India
by providing microcredit to the
financially deprived.

2. In an SHG, all members of a group
take responsibility for a loan that
an individual member takes.

3. The Regional Rural Banks and
Scheduled Commercial Banks
support SHGs.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

75. Consider the following statements :

Statement-I :
India’s public sector health care system
largely focuses on curative care with
limited preventive, promotive and
rehabilitative care.

Statement-II :
Under India’s decentralized approach
to health care delivery, the States are
primarily responsible for organizing
health services.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct
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76. Consider the following statements :

Statement-I :
According to the United Nations’
‘World Water Development Report,
2022’, India extracts more than
a quarter of the world’s groundwater
withdrawal each year.

Statement-II :
India needs to extract more than
a quarter of the world’s groundwater
each year to satisfy the drinking water
and sanitation needs of almost 18%
of world’s population living in its
territory.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(¢) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

77. Consider the following statements :

1. According to the Constitution of
India, the Central Government has
a duty to protect States from
internal disturbances.

2. The Constitution of India exempts
the States from providing legal
counsel to a person being held for
preventive detention.

3. According to the Prevention of
Terrorism Act, 2002, confession of
the accused before the police
cannot be used as evidence.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

[ P.T.O.
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78. Which one of the following countries has 80. Consider the following statements in

been suffering from decades of civil strife ~ respect of election to the President of

and food shortages and was in news India :

in the recent past for its very severe

famine? ‘ 1. The members nominated to either
House of the Parliament or the

(a) Angola Legislative Assemblies of States are
also eligible to be included in the

(b) Costa Rica Electoral College.

(¢) Ecuador ' 2. Higher the number of elective
Assembly seats, higher is the

(d) Somalia value of vote of each MLA of that
State.

79. Consider the following statements : 2. Ths valus of wote of esch MLA

of Madhya Pradesh is greater than

.. In India, the Biodiversity
Management Committees are key
to the realization of the objectives
of the Nagoya Protocol.

that of Kerala.

4, The value of vote of each MLA
of Puducherry is higher than that
of Arunachal Pradesh because the
ratio of total population to total
number of elective seats in
Puducherry is greater as compared
to Arunachal Pradesh.

2. The Biodiversity = Management
Committees have important
functions in determining access
and benefit sharing, including the
power to levy collection fees on
the access of biological resources
within its jurisdiction.

How many of the above statements are

Which of the statements given above correct?

is/are correct?

(a) Only one

(a) 1 only

(b) 2 only (b) Only two
(c) Both 1 and 2 (c) Only three
(d) Neither 1 nor 2 - (d) All four
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(a)

()

(c)

(@)

81. With reference to the Indian History,
Alexander Rea, A. H. Longhurst, Robert
Sewell, James Burgess and Walter Elliot
were associated with

archaeological excavations

establishment of English Press in
Colonial India

establishment of Churches in
Princely States

construction of railways in
Colonial India

82. Consider the following pairs :

I' Site Well known for
; g ;
' 1. Besnagar : Shaivite cave shrine
| 2. Bhaja ¢ Buddhist cave shrine

(a)

(b)

(c)

I (d)

3. Sittanavasal : Jain cave shrine

' How many of the above pairs are
correctly matched?

Only one
Only two
All three

None

\ XDTG-F-GST/62A

83. Consider the following statements :
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Statement-I :
7th August is declared as the National
"Handloom Day.

Statement-II :
It was in 1905 that the Swadeshi
Movement was launched on the same
day.

Which one of the i‘ollowing is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

Consider the following statements in
respect of the National Flag of India
according to the Flag Code of India,
2002 :

Statement-I :

One of the standard sizes of
the National Flag of India is
600 mm %400 mm. -

Statement-II : :
The ratio of the length to the height
(width) of the Flag shall be 3:2.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-1 and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(cJ] Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

[P.T.O.
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85. Consider the following statements in

respect of the Constitution Day :

Statement-I :
The Constitution Day is celebrated on
26th November every year to promote
constitutional values among citizens.

Statement-II :
On 26th November, 1949, the
Constituent Assembly of India-set up
a Drafting Committee under the
Chairmanship of Dr. B. R. Ambedkar
to prepare a Draft Constitution of
India.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

(b)

(c) Statement-I is correct but
Statement-II is incorrect
(d) Statement-I is incorrect but

Statement-II is correct

86. Consider the following statements :

Statement-] :
Switzerland is one of the leading
exporters of gold in terms of value.

Statement-II :
Switzerland has the second largest
gold reserves in the world.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-l and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(b)

(c) Statement-I is correct but
Statement-II is incorrect
(d) Statement-I is incorrect but
Statement-II is correct
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87. Consider the following statements :

Statement-I :
Recently, the United States of America
(USA) and the European Union (EU)

have launched the ‘Trade and
Technology Council’.

Statement-II :
The USA and the EU claim that

through this they are trying to bring
technological progress and physical
productivity under their control.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(b)

(c) Statement-I is correct but
Statement-II is incorrect
(d) Statement-I is incorrect but

Statement-II is correct

88. Consider the following statements :

Statement-I :
India accounts for 3-2% of global
export of goods.

Statement-II :
Many local companies and some
foreign companies operating in India
have taken advantage of India’s
‘Production-linked Incentive’ scheme.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation. for
Statement-I

(b)

(c) Statement-] is correct but
" Statement-II is incorrect
(d) Statement-I is incorrect but
Statement-II is correct
[ P.T.O.
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89. Consider the following statements :

The ‘Stability and Growth Pact’ of the
European Union is a treaty that

L.

limits the levels of the budgetary
deficit of the countries of the
European Union

makes the countries of the
European Union to share their
infrastructure facilities

enables the countries of the
European Union to share their
technologies

How many of the above statements are
correct?

(@)
(b)
(c)
(d)

Only one
Only: two
All three
None

90. Consider the following statements :

1.

Recently, all the countries of the
United Nations have adopted the
first-ever compact for international
migration, the ‘Global Compact
for Safe, Orderly and Regular
Migration (GCM)’.

The objectives and commitments -

stated in the GCM are binding on
the UN member countries.

The GCM addresses internal
migration or internally displaced
people also in its objectives and
commitments.

How many of the above statements are
correct?

(@)
(b)
(c)
(@)

Only one
Only two
All three

None
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91, With reference to Home Guards, consider
the following statements :

1.

Home Guards are raised under the
Home Guards Act and Rules of
the Central Government.

The role of the Home Guards is
to serve as an auxiliary force to
the police in maintenance of
internal security.

To prevent infiltration on the
international border/coastal areas,
the Border Wing Home Guards
Battalions have been raised in
some States.

How many of the above statements are
correct? ’

(a)
(b)
(c)
(d)
92.

With reference to

Only one
Only two
All three
None

India, consider the

following pairs :

Action

1. Unauthorized wearing :

The Act under
which it is covered

The Official Secrets

of police or military Act, 1923
- uniforms
. Knowingly misleading : The Indian Ewvi-

or

otherwise

inter- dence Act, 1872

fering with a police

officer

or

military

officer when engaged
in their duties

. Celebratory  gunfire :

which can endanger
the personal safety of
others

The Arms (Amend-
ment) Act, 2019

How many of the above pairs are

correctly matched?

Only one
Only two
All three
None

(a)
(b)
(c)
(d)

[ P.T.O.
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93. Consider the following pairs :

Regions often Reason for being
mentioned in news in news
1. North Kivu and Ituri : War between
Armenia and
Azerbaijan
2. Nagorno-Karabakh : Insurgency in
Mozambique
3. Kherson and : Dispute  between

Zaporizhzhia Israel and Lebanon

How many of the above pairs are
correctly matched?

(a) Only one

(b) Only two

{c) All three

({d) None

94. Consider the following statements :

Statement-I :
Israel has established diplomatic
relations with some Arab States.

Statement-II : :
The ‘Arab Peace Initiative’ mediated by
Saudi Arabia was signed by Israel
and Arab League.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II

" are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect
(d) Statement-I is incorrect but

Statement-II is correct
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95. Consider the following pairs with regard

1.

Dronacharya Award

Rashtriya Khel : To
Protsahan Puraskar

to sports awards :

Major Dhyan Chand : For the most
Khel Ratna Award spectacular .and
outstanding  per-

formance by a
sportsperson over
period of last four

years
Arjuna Award : For the lifetime
achievement by

a sportsperson

: To honour eminent
coaches who have
successfully trained
sportspersons  or
teams

recognize the
contribution made
by sportspersons
even after their
retirement

How many of the above pairs are
correctly matched?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

96. Consider the following statements in

respect of the 44th Chess Olympiad,

2022 :

1. It was the first time that Chess
Olympiad was held in India.

2. The official mascot was named
‘Thambi’.

3. The trophy for the winning team
in the open section is the Vera
Menchik Cup.

4. The trophy for the winning team
in the women’s section is the
Hamilton-Russell Cup.

How many of the statements given

above are correct?

(a) Only one

(b) Only two

(c) Only three

{d) All four

[ P.T.O.
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97. Consider the following pairs :

Area of conflict Country where
mentioned in news it is located
1. Donbas : Syria
2. Kachin : Ethiopia
3. Tigray :  North Yemen

How many of the above pairs are
correctly matched?

(a) Only one
(b) Only two
(c) All three

(d) None

98. In the recent years Chad, Guinea, Mali
and Sudan caught the international
attention for which one of the following
reasons common to all of them?

(a) Discovery of rich deposits of rare
earth elements

(b) Establishment of Chinese military
bases

(c) Southward expansion of Sahara
_ Desert

(d) Successful coups

XDTG-F-GST/62A

99, Consider the following heavy industries :

1. Fertilizer plants
2. Oil refineries

3. Steel plants

Green hydrogen is expected to play
a significant role in decarbonizing how
many of the above industries?

(a) Only one
(b} Only two
(c) All three

(d) None

* 100. Consider the following statements about

G-20 :

1. The G-20 group was originally
established as a platform for the
Finance Ministers and Central
Bank Governors to discuss the
international economic and
financial issues.

2. Digital public infrastructure is one
of India’s G-20 priorities.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

We often hear about conflicts among
different States in India over river waters. Of the
20 major systems, 14 are already
water-stressed; 75% of the population lives in
water-stressed regions, a third of whom live in

river

water-scarce areas. Climate change, the demands
of rising population and the need for agriculture
to keep pace, and increased rate of urbanization
and industrialization will exacerbate water
stress. According to the Constitution of India,
water is a State subject and not that of the
Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing
demands of various stakeholders is a basin-based
approach to allocate water amongst constituent
regions and States. Allocating fair share of water
to them requires assessments based on objective
criteria, such as specificities of the river basin,
size of dependent population, existing water use
and demand, efficiency of use, projected future
use, etc. while ensuring the environmental needs
of the river and aquifers.

1. Which one of the following statements best
reflects the most rational, practical and
immediate action required to ensure fair and
equitable allocation of water to different
stakeholders ?

(a) A national, pragmatic, legal and policy
framework for water allocation should
be made.

(b) All river systems of the country should
be linked and huge aquifers created.

(c) Water channels between regions of
water surplus and regions of water
deficit should be created.

(d) To mitigate water crisis, water demand
of sectors such as agriculture and
industry should be reduced.
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(3-A)

Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer
from anaemia. According to studies, they are
anywhere from 5 — 15% less productive than they
could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
adequately nourished peers. For an economy that
will be more dependent on highly skilled
workers, this poses a significant challenge. And it
is one that really should be addressed given

India’s demographic outlook.

Which one of the following statements best

reflects what is implied by the passage ?

(a) Education system must be strengthened

in rural areas.

(b) Large scale and effective
implementation of skill development

programme is the need of the hour.

(¢) For economic development, health and
nutrition of only skilled workers needs

special attention.

(d) For rapid economic growth as envisaged
by us, attention should be paid to health

and nutrition of the people.
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Passage - 3 4. Raj has ten pairs of red, nine pairs of white
In India, a majority of farmers are and eight pairs of black shoes in a box. If he
marginal and small, less educated and randomly picks shoes one by one (without
possess low adaptive capabilities to climate replacement) from the box to get a red pair of
change, perhaps because of credit and other shoes to wear, what is the maximum number
constraints. So, one cannot expect of attempts he has to make ?
autonomous adaptation to climate change. @ 27
Even if it was possible, it would not be
sufficient to offset losses from climate (b) " 36
change. To deal with this, adaptation to (c) 44
climate change is paramount, alongside a (d) 45
fast mitigation response. Another solution is
to have a planned or policy-driven 5. In how many ways can a batsman score
adaptation, which would require the exactly 25 runs by scoring single runs, fours
government to come wup with policy and sixes only, irrespective of the sequence of
recommendations. Perception is a necessary scoring shots ?
pre-requisite for adaptation. Whether &) 18
farmers are adapting agricultural practices ® 19
to climate change depends on whether they
perceive it or not. However, this is not always € 20
enough for adaptation. It is important how a d 21
farmer perceives the risks associated with
climate change. 6. There are four letters and four envelopes and
exactly one letter is to be put in exactly one
3.  Which one of the following statements best envelope with the correct address. If the
reflects the most logical and rational message letters are randomly inserted into the
conveyed by the author of the passage ? envelopes, then consider the following

(a) Adaptation to climate change and statements :
mitigation response are basically the 1. It is possible that exactly one letter goes
responsibilities of the government. into an incorrect envelope.

(b)  Climate change causes a change in 2.  There are only six ways in which only
government policies regarding land use two letters can go into the correct
patterns in the country. envelopes.

(¢0 Risk perceptions of farmers are Which of the statements given above is/are
important for motivating them for it
taking adaptation decisions.

(a) 1lonly

(d) Since mitigation 1is not possible,
governments should come up with (b)  Zonly
policies for quick resporise to climate (c) Both1and2
change. (d) Neither 1 nor2

XDTG-S-DNK (5-A)
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T ek is the fembinilos when Directions for the following 3 (three) items :

85 x 87 x 89 x 91 x 95 x 96 is divided by 100 ? Read the following three passages and answer the
items that follow the passages. Your answers to these

@ 0 items should be based on the passages only.

®). 1 Passage - 1

(e) 2

@y 4 The emissions humans put into the

atmosphere now will affect the climate in the

8. What is the unit digit in the expansion of middle of the century and onwards. Technological

(57242)9<7x6x3x1 9 change, meanwhile, could make a future
W 9 transition away from fossil fuels cheap or it
b 4 might not, leaving the world with a terrible

choice between sharply reducing emissions at
E:)) : huge cost or suffering through the effects of

unabated warming. Businesses that do not hedge
9. If ABC and DEF are both 3-digit numbers against the threat of uncertain outcomes fail. The
such that A, B, C, D, E and F are world cannot afford such recklessness on climate

distinct  non-zero  digits such  that change.
ABC + DEF = 1111, then what is the value of

A+B+C+D+E+F ? 11. Which one of the following statements best

reflects the crucial message conveyed by the

(a) 28

author of the passage ?
(b) 29

(a) Businesses that cause emissions may
o 10 need to close down or pay for pollution in
d 31 RitiRe

10. D is a 3-digit number such that the ratio of the (b) The only solution is technological

number to the sum of its digits is least. What development related to the issues of
is the difference between the digit at the climate change.
hundred’s place and the digit at the unit’s (¢) Waiting to deal with carbon emissions
place of D ? until technology improves is not a wise
(a) 0 strategy.
(b) 7 (d) Since future technological change is
) 8 ’ uncertain, new industries should be
@ 9 based on renewable energy sources.

XDTG-S-DNK (7-A)
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Passage - 2

Environmental problems cause health
problems. Substantial changes in lifestyle can
reduce environmental or health problems, but
this idea appears almost impossible to adopt.
With environmental problems, individual efforts
can be perceived as having a negligible effect and
therefore lead to inertia. With health, on the
other hand, individual choices can make the
difference between life and death, literally. And
yet, barring a few, there seems to be the same

collective lethargy towards making their choices.

12. Which one of the following statements best
implies the most rational assumption that can

be made from the passage ?

(a) We are likely to spend more money on

cure than prevention.

(b) It is the job of the government to solve
our environmental and public health

problems.

(¢c) Health can be protected even if
environmental  problems  go on

unattended.

(d) Loss of traditional lifestyle and the
influence of western vélues led to some

unhealthy ways of living.

13.

Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous diets that
do not provide the daily nutrients for them to
develop fully. Part of the reason nutrition is
under threat worldwide is that our food systems
are not properly responding to nutritional needs.
Somewhere along that long road from farm to

fork, there are serious detours taking place.

Which one of the following statements best

reflects the crux of the passage ?

(a) The scheme of Universal Basic Income
should be implemented worldwide as a

way of poverty alleviation.

(b) We must place food-based nutrition at

the centre of our policy debate.

(¢)  Nutritional status of food should be
improved by creating appropriate
genetically modified crops.

(d) Using modern food  processing

technologies, we must fortify food items

with required nutrient elements.

XDTG-S-DNK (9-A)
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15.
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Three of the five positive integers p, q, 1, s, t
are even and two of them are odd (not
necessarily in order). Consider the following :

1. p+q+r-s-—t is definitely even.
2. 2p+q+2r—2s+t is definitely odd.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following in respect of prime
number p and composite number c.

p+c
p-c

1 can be even.

2.  2p + ccan be odd.

3. pccan be odd.

Which of the statements given above are
correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1land3only

(d 1,2and3

A 3-digit number ABC, on multiplication with
D gives 37DD where A, B, C and D are
different non-zero digits. What is the value of
A+B+C?

(a) 18
(b) 16
(c) 15

(d) Cannot be
insufficient data

determined due to

17.

18.

19.

20.

(11-A)

For any choices of values of X, Y and Z, the
6-digit number of the form XYZXYZ is
divisible by :

(a) 7 and 11 only

(b) 11 and 13 only

(¢) 7and 13 only

(d 7,11 and 13

125 identical cubes are arranged in the form of
a cubical block. How many cubes are
surrounded by other cubes from each side ?

(@) 27

(b) 25
() 21
(d 18

How many distinct 8-digit numbers can be
formed by rearranging the digits of the
number 11223344 such that odd digits occupy
odd positions and even digits occupy even
positions ?

(a) 12
(b) 18
() 36
d 72

A, B, C working independently can do a piece
of work in 8, 16 and 12 days respectively. A
alone works on Monday, B alone works on
Tuesday, C alone works on Wednesday; A
alone, again works on Thursday and so on.
Consider the following statements :

1. The work will be finished on Thursday.
2. The work will be finished in 10 days.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage -1

To tackle the problem of pollution in cities,
policy makers think that drastic actions like
temporary use of odd-even number scheme for
vehicles, closing schools, factories, construction
activities, and banning the use of certain type of
vehicles are a way forward. Even then the air is
not clean. Vehicles more than 15 years old
comprise one percent of the total; and taking
them off the road will not make any difference.
Banning certain fuels and car types arbitrarily is
not proper. Diesel engines produce more PM 2-5
and less CO,4 than petrol or CNG engines. On the
other hand, both diesel and CNG engines
produce more NO, than petrol engines. No one
has measured the amount of NO, that CNG
engines are emitting. Arbitrary bans on vehicles
that have passed mandated fitness tests and
periodic pollution tests are unfair. What is
needed is the scientific and reliable information
about the source of pollutants on a continuing
basis and the technologies that will work to
reduce pollution from them.

21. Which one of the following statements best
reflects the most logical and rational
implication conveyed by the passage ?

(a) Arbitrary curbs on vehicles to reduce
pollution are difficult to implement.

(b) Knee-jerk reactions cannot solve the
problem  of pollution but an
evidence-based approach will be more
effective.

(¢) A heavy penalty should be enforced on
those driving without periodic pollution
tests.

(d) In the absence of laws to deal with the
problems of pollution, the
administration tends to make arbitrary
decisions.

XDTG-S-DNK

Passage - 2

Good corporate governance structures
encourage companies to provide accountability
and control. A fundamental reason why
corporate governance has moved onto the
economic and political agenda worldwide has
been the rapid growth in international capital
markets. Effective corporate governance
enhances access to external financing by
firms, leading to greater investment, higher
growth and employment. Investors look to
place their funds where the standards of
disclosure, of timely and accurate financial
reporting, and of equal treatment to all

stakeholders are met.

22. Which of the following statements best reflects

the logical inference from the passage given

above ?

(a) It is an important agenda of the
countries around the world to ensure

access to good external financing.

(b) Good corporate governance improves the

credibility of the firms.

(¢) International capital markets ensure
that the firms maintain good corporate

governance.

(d) Good corporate governance paves the

way for robust supply chains.

(13-A)
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7x + 96 fIMT 8 x A | x % fopae 7= gwa & 2

(a) 10
(b)) 11
(c): 12
(d) IFdd: 3FH

TR G (F1RH) T § o 3
i & wgg dafafae a6 e

B o emar A1t R 6 1o sTavear
% ITET YA ST a1 i R A w

9@ 11 ® 30 = 5,
11917921 =138, W23 @ 4 @ 15 F qH

qH WL, x HE o9 PIie 2, 3@ THR %

26.

217.

28.

29.

30.

(14-A)

qﬁp, q,raﬂ'{s@ﬁ?mﬁﬁm
m‘i%,ﬁ(p+q)(r+s)ﬁﬂ3ﬂﬂﬂﬂw%?
(a) 230

(b) 225

(o 224

@ 221

9 i 99 IR for@ X HIE T N 418 A1t 2 |
afg N =t 13 & fawfSa form Sme, &t Swwet
BT 2

(a)' 11

b 9

(o) STy

d 1

9-31hi i forelt T 1 TS FH 12 | @
T i 3 wen @ Ton R St @ 1wl
&A1 & bl BT INTHA 47 8 2

(a) 64

(b) 80

(c) 81

d 100

10 § 100 T for@ S aret @ft quitet & s
et @t 7R T ANTHS T R 2

(a) 855

(b) 856

{c) 910

@ 911

ABCD %5 @t 8 | AB 3 CD &% W T&h
fog; 3t BC 3k DA vo% W @ fim foig o
|4 & | 31 9% forget & @ fordl im famgadt =1
o & o foraa i Brys &9 snasa & 2
(a) 16

(b) 18

(c) 20

d 24



Passage - 3
Elephants are landscape architects,
creating clearings in the forest, preventing

overgrowth of certain plant species and allowing
space for the regeneration of others, which in turn
provide sustenance to other herbivorous animals.
Elephants fruits
propagating the seeds when they defecate in other

eat plants, and seeds,

places as they travel. Elephant dung provides
nourishment to plants and animals and acts as a
breeding ground for insects. In times of drought,

they access water by digging holes which benefits
other wildlife.

23. Which one of the following statements best
reflects the most logical and rational inference

that can be drawn from the passage ?

(a)

The home range of elephants needs to be
a vast area of rich biodiversity.

(b)

Elephants are the keystone species and
they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained

in the forests without the presence of

elephants.

(d) Elephants are capable of regenerating
forests with species as per their
requirement.

24. If7T09010=8, 90 11 @ 30=35,

11 @ 17 @ 21 = 13, what is the value of

2340157

(a) 6

(b) 8

e~ 18

(@ 15

25. Let x be a positive integer such that 7x + 96 is
divisible by x. How many values of x.are
possible ?

(a): - 10

() - L

ey 12

(d) Infinitely many

XDTG-S-DNK

26.

217.

28.

29.

30.

(15-A)

If p, q, r and s are distinct single digit positive
numbers, then what is the greatest value of
(Pp+qQr+s)?

(a) 230
(b) 225
() 224
" 221

A number N is formed by writing 9 for
99 times. What is the remainder if N is
divided by 13 ?

(@); .1l
th):. =9
{e). ¥
(d) ook

Each digit of a 9-digit number is 1. It is
multiplied by itself. What is the sum of the
digits of the resulting number ?

(a) 64
(b) 80
(c)- 81
(d 100

What is the sum of all digits which appear in
all the integers from 10 to 100 ?

(a) 855
(b) 856
() 910
(@ . 9%t

ABCD is a square. One point on each of AB
and CD; and two distinct points on each of BC
and DA are chosen. How many distinct
triangles can be drawn using any three points
as vertices out of these six points ?

(a); 16
(b) =18
(e 20
(d 24
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FAferee 5 (gier) gy & fore Rdr :

Fefciiga diT ai=sel #1 gige 3k TR=de & #9
7 TG TN F I T | 59 TR & o
39 I FaT 37 IR=sel W & maia g7 T |

uftesg - 1

WA H, T TR T EId W gLEh
TN | T Aftehi: SHiveieh 85 %
UH ® | THUMR SO 1 dH-EeTE ¥ e
39 TR AR ufms # wen S 2, e
TEER/AETEA JAgita 3 fgem ¥ foru st
H AV gUAT & | I G« H R A-FAT har
SUgTh R Ul ® ? ey €9 W, Ig F@en o
gt (it smafdme it o= & «fiw), Tgw,
QAR o IvETq SN WE-AE § 9 ¥ uEe
I9YTh AT T B | MU Sl ol § wgeM i
- Nenfireh gaiftes sugw 2, 98 39 w fofk
2 T orufdre § @ R (orlq wes Safrfeofa
BT R) M SEH SO AH R R | WG F
FE AW it w1 Aafrfievim  Tew
50 gfowrd & fhfuaum sare 28, sk Saudaw
(TEREATE) ¥ 3Hh THERU F U U T 5
firet wehar 2 |

81. 39 IR=dg & MuR W, freferfiga qefumomt
TE T @

1. THF UM &1 TUEY, TYHEHU 3R
ERCEZUIRC At SR |
=11y |

ETEA gAvifed 3T YAkl i Seifieh
FTdl i omen Bt @ o o 8w %
ITW FEH Y ¥ Jefd & Ghd & |

35 qauRene § & s gl 38 2
(a) ad 1

(b) had 2

(¢ 13 23

@ TA1,T82

32.

Frafafaa st § @ a1 wh, 39 TRese *
TH & gaan €9 # gfafafed s g 2

(a) TR 34 IR A Fol & =9 T
TR

SR, T 3 Il ¥ e F
S T Faifereh 3Trest alie 2 |

T W IURTE W geyEeR,
JUNTRA-FJAT TIA  h HEAAT
giHfeaa e ¥ ygelt seH R |

Y@ & THE  3E  ulme @
Safrfirnia oo e @ i
/AN Y ¥ 39y HA % fo gafeq
TR

(b)

(c)

(d)

uftesg - 2

tE gEn fe S R f6 Sfas @
FHfed €7 & sWeha gt 3 wreeTEt
2 | arafowa 78 @ 6 dfe Sfes @dt sem
wrd # oft oft St T R o i & fafrafia
& 7, forum SR 3uvEl, TEE &9 @, T FaA
¥t & foF S8 3ae 37 forg ged or=® %,
sfew -t IR w1 W aliwl § sREE
wd & St foh 3T 1 7l vge gea € | Semw
% fou, <Ifeh wia # Ifees It w1 w2 A W
T BT HieA 7, oa: foham . wal o we &
T w8, e ernfawrg () @
3 will U B R & | HRUE TEw Fan,
IR % foU uqu g ok iRl ¥ gEwi #
U W & T BT @ | A SHeR s
33l 7ET | T, @ T8 NN b =Y A
T 9NTE ST Hehdl ? | gUid &, 38 R o
e FEHE HET 8, I G W e SEUE I
fafemm i gan 7

(16-A)



Directions for the following 5 (five) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

In India, the segregation of municipal waste
at source is rare. Recycling is mostly with the
informal sector. More than three-fourths of the
municipal budget goes into collection and
transportation, which leaves very little for
processing/resource recovery and disposal.
Where does waste-to-energy fit into all this ?
Ideally it fits in the chain after segregation
(between wet waste and the rest), collection,
recycling, and before getting to the landfill.
Which technology is most appropriate in
converting waste to energy depends on what is
in the waste (that is biodegradable versus
non-biodegradable component) and its calorific
value. The biodegradable component of India’s
municipal solid waste is a little over 50 per cent,
and biomethanation offers a major solution for
processing this.

31. Based on the above passage, the following
assumptions have been made :

1. Collection, processing and segregation of
municipal waste should be with
government agencies.

2. Resource recovery and recycling require
technological inputs that can be best
handled by private sector enterprises.

Which of the assumptions given above is/are

correct ?
(a) 1lonly
(b) 2only

() Both1and?2
(d) Neither 1 nor 2

32.

Which one of the following statements best
reflects the crux of the passage ?

(a) Generation of energy from municipal

solid waste is inexpensive.

(b) Biomethanation is the most ideal way of

generating energy from municipal solid

waste.

(¢) Segregation of municipal solid waste is

the first step in ensuring the success of

waste-to-energy plants.

(d) The biodegradable component of India’s
municipal solid waste is not adequate to
provide energy from waste
efficiently/effectively.

Passage - 2

There is a claim that organic farming is
inherently safer and healthier. The reality is
that because the organic farming industry is
still young and not well-regulated in India,
farmers and consumers, alike, are not only
confused about what products are best for them,
but sometimes use products in ways that could
harm them as well. For example, since organic
fertilizers are difficult to obtain on a large scale
in India, farmers often use farmyard manure,
which may contain toxic chemicals and heavy
metals. Certain plant sprays, such as Datura
flower and leaf spray, have an element called
atropine. If it is not applied in the right dose, it
can act on the nervous system of the consumer.
Unfortunately, how much and when to use it are

not well-researched or regulated issues.

XDTG-S-DNK (17-A)



33. 3w uiedg W mutia, fmfafga qdumomd
TR B

1.

Jfesws @t orafifea 1 @ frami it
IJUIRIRAT g o fore Srgefera R |
framt oft IuwmeT @i wtawrfRad
g & gR # it g f sew
21

S s 3 & S @ v 0

(a)
(b)
()
(d)

Fad 1
Had 2
1 3R 2 g
Jdr, a2

34. f=ffaa wemt @ @ 9w &, 39 fi=de &
AGH g h Haltush Iihgeh, aehaTa IR
TR T3 I garaq &9 § yfafafaa s

22
(a)

(b)

(c)

(d)

XDTG-S-DNK

aRa §, s @dft # gruie @@ &
TIHNT & &9 | Tredred T8 A S
=Y |

TErEfS A & foau wiE gifta Sfesw
forepea 71 & |

aia #, framl # h s @dh #
gy s R * fau fewnfdwm @ik
TEaT H T 2 |

A Gt 1 A8 QAR ATH T HE
% fore 78 g =nfiu, w=ife anft ot s
I1El & for 1 Afvas s ad 2 |

uftede - 3

frod %o i % gNH ¥R § e 39N
% WEY T §9 Y9G TCE | 38R GROTH T8
g 2 fF Smamm ¥ e dve @revgd
I B M F | elifeh Taeal % 91 ¥ 9 a%
Qe 1 3ATE Ui T4 | 1fe 5 T g, fi
ft 399 AU I THET HT W Y A GHYH
T g R | W9 T d%, BN & H @
wrErE, faRiy = yam @wE, % A § iy
w @, e vfomeEsr oft gnefs
FHSA/SS, Hell o 3T Hioodl & I
ou | &t oms, SR 3@ whkw # @ ek
qIYur gean SHfeq g% ® | 3Eeh JHfafw, e,
THUT HY g1 § g, Jo R @ A
@rg & Ui Frfea gt 8, fae s @
3R iy graa < woen et @ wwd § |

35. 39 UNesq & MR W, frefefaa qeumomd

TE W R

1. ¥ad fowm dedi A s w0 * o
3Ryt w1 gt @ fem & wew @l
T wH ok AUt HfY wemd
Tﬁ,ﬁﬁmﬂwww
T

2. $ @ wEal | ol 8 ame ey

1 GIET BT FHTSTH T B |

4. TEHE THY HY gl F fow fham
IS alhl A g (FfehEl) 3R TR
g IS % fow § S arelt @
FHmd I wd & 3N WA 9 wEe
fafauar w foem ®0 % fou yga &
B |

30 § ¥ B H geuromd 3y € 2

(a) had 1,234

(b) haet 233

(¢) Hadd 33 4

@ 1,2 334

(18-A)



33.

34.
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Based on the above passage, the following

assumptions have been made :

1. Organic farming is inherently unsafe for

both farmers and consumers.

2. Farmers and consumers need to be

educated about eco-friendly food.

Which of the assumptions given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Which one of the following statements best
reflects the most logical, rational and practical
message conveyed by the author of the

passage ?

(a) In India, organic farming should not be
promoted as a  substitute for

conventional farming.

(b) There are no safe organic alternatives to

chemical fertilizers.

(¢) In India, farmers need to be guided and
helped to make their organic farming

sustainable.

(d) The aim of organic farming should not
be to generate huge profits as there is

still no global market for its products.

35.

Passage - 3

Food consumption patterns have changed
substantially in India over the past few decades.
This has resulted in the disappearance of many
nutritious foods such as millets. While food grain
production has increased over five times since
independence, it has not sufficiently addressed
the the
agriculture sector focussed on increasing food

issue of malnutrition. For long,
production particularly staples, which led to
lower production and consumption of indigenous
traditional fruits other
vegetables, impacting food and nutrition security

crops/grains, and
in the process. Further, intensive, monoculture
agriculture practices can perpetuate the food and
nutrition security problem by degrading the
quality of land, water and food derived through
them.

Based on the above passage, the following

assumptions have been made :

1. To implement the Sustainable
Development Goals and to achieve
zero-hunger goal, monoculture

agriculture practices are inevitable even
if they do not address malnutrition.

2. Dependence on a few crops has negative
consequences for human health and the
ecosystem.

3. Government policies regarding food
planning need to incorporate nutritional
security.

4.  For the present monoculture agriculture
practices, farmers receive subsidies in
various ways and government offers
remunerative prices for grains and
therefore they do not tend to consider
crop diversity.

Which of the above assumptions are valid ?

(a) 1,2 and 4 only

(b) 2and 3 only

(¢) 3and4only

d 1,2,3and4

(19-A)



36. forelt fesa § 14 wreft 2, 20 fich 72, 26 &6

37.

38.
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g, 28 dieft 72, 38 Wt e 3 54 whe WS F |

Frafafea suai w fomm Hifs -

1. IR FAaTors s wE A n R
39 YR Feprelt 9d fop 370 +H-8%0 T
T H TF Q@ g G &, a n B
YT T 1757 |

2. fe fesd # & Frcfoe® w9 & #18 @t m W3
39 YR feeft I fh | @ R
FUY-FA Th g G &, da m
AYTH T 1677 |

39 HUH T A PH-AVE T R 2

(a) Had 1

(b) HaA 2

(@ 13 23Ml

@ Ta 1T 2

If¢ ‘ZERO’ #l ‘CHUR’ & &9 # for@n o 2,
al ‘PLAYER %! forg &9 & foran smam 2

(a) SOCAGT

(b) SODBGT

(¢ SODBHT

(d SODBHU

frafaRaa seat w foar Hifsw .
AJYABATSR |

C3R DEAH A & # |

E 3 # god ST R |
FIEADADAE |

. FIPHATTSIR |

Eg A 3| & =afw/=afeal i Fuifa w0
% fou Swdeh fopam el <l SrTervTeRar & 2
(a) ad g H

(b) had o ht

(c) had =R H

(@ @t wi=t hit

Al ot N

39. fr=afafgs w fomm hifse, o g ot

40.

(20-A)

e #

foreft ufem & 59q= A, B, C,D,E® |
E® BH ®1§a9 8 ?

A 3R B foanfeq qufa & |
Df g c# |

9
HYH-1 :
HYT2 :
ETF:DH |

AR CEEA B |

PY7-3 :

HIT4 :

39T T 3R HoEl & 9R # ffafaa # @

191 TF T 8 ?

(a) WYA-1, FYA-2 3R HYA-3 T I I &
% fore wafea §

(b) THYA-1, HIA-3 AN HYA-4 T HI I &
% fore wafea & |

¢ T TR F A M I H WA H
fore warfea & |

(@ @t I/ FHH Y H IW ¢ F faw
vt 737§ |

39 TYg I g it 3 wgE @ R R
(@) 17,37,47,97
(b) 31,4153, 67
(© 71,73,79,83

(d 83,89,91,97



86. A box contains 14 black balls, 20 blue balls, | gg,
26 green balls, 28 yellow balls, 38 red balls
and 54 white balls. Consider the following
statements :

1. The smallest number n such that any
n balls drawn from the box randomly
must contain one full group of at least
one colour is 175.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least one ball of each
colour is 167.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

37. If ‘ZERO’ is written as ‘CHUR’, then how is
‘PLAYER’ written ?

(a) SOCAGT

(b) SODBGT

(¢c) SODBHT

(d) SODBHU

38. Consider the following statements :

1. Aisolder than B.

2. C and D are of the same age.

3. E is the youngest.

4. Fisyounger than D.

5. F is older than A. 40.

How many statements given above are

required to determine the oldest
person/persons ?

(a) Only two

(b) Only three

(¢)  Only four

(d) Allfive

XDTG-S-DNK (21-A)
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Consider the following including the Question

and the Statements :

There are 5 members A, B, C, D, E in a family.
Question : What is the relation of E to B ?
Statement-1: A and B are a married couple.
Statement-2 : D is the father of C.
Statement-3 : E is D’s son.

Statement-4 : A and C are sisters.

Which one of the following is correct in respect

of the above Question and Statements ?

(a) Statement-1, Statement-2 and
Statement-3 are sufficient to answer the

Question.

(b) Statement-1, Statement-3 and
Statement-4 are sufficient to answer the

Question.

(¢) Al

sufficient to answer the Question.

four statements together are

All four statements are not sufficient to

(d)

answer the Question.

Choose the group which is different from the
others :

(a) 17,37, 47,97
(b) 31,41,53,67
(e) 171,73,79,83

(d) 83,89,91,97



fReferfea 3 (1) Teron & fore Rdr :

ReferfEa @i ai=eq #1 93w 3t 9R=sed & 9
7 T e F I AT | § g & forg
3T9% I FIT 37 IR=se] T &1 reha &7 =iy |

ufese -1

AR 4 FHA-TaE — Sfiawkg F AR
HEA 3 & HIGH T hl VT Al T AT
forar | 38R wrn f6 ww T% arclt s ™
sk & UiUHEEEY FEd weARl %
FgHd dH wEd  IEy R e
UG- Hied g | SEd Sl HEI-ERT % 5
aieadd & FiN, Teued iR wied wifeufass,
qrifork 3R anffer &9 & ywifea & & | <ifp
% $9 Ted & fUae it ?, safoe geh ame
& ed, fed agq we i aifeafis gemd
A Bl & = IR Srafy F wgad Bl R

41. 39w dieee & Ty H, Fefafea qdumomd
FE W E
1. YHSHE A9 % HRU G0 Ugd AW
R 3R rferes o gvg 9% @A @ |

2. IHA I UgA M IR G 999 9% &
g&ft gmfte & fow sree 78 2 |

393tk g # ¥ BHEA 98 3R 2
(a) ad 1

(b) A 2

© 1 3R 23gH

(@ Jar1,ad2

afesy - 2

TEEIH I g@aT — sEehl A 6 R
qear I ® 5o i feRaHt AT ST 3T T
2, % faeg % 9 yguwr & w0 § w0 = @
— % U e faweryor # samn @ @ fo wgd
Ay IHh U B A Fomml IR Ty §
YGEUT S | T AR § Hal T & fob adwe
T SIS IUANT ST h AfYaeh HEd THT 0-4
R, e qg 9d § R wa # famm T oga
AN HT 40 Tfavd IME TS BHA § AT B,
Sefeh 60 Wi argHee § @ I & | foava
el | Aferep SHEEE H AN 36 HEA § Bl
3 S 3= HEE 3cuTed TH & fore wfverse Arsgiem
Ith JaTH o ITANT § IME TS ? | UIGHl Bl S
% foau fyeft Tggem wifge @ & w9 €, ek
ferftes ATggre fd, et 3R a1y § @ v ® |
3% TRUMETEY A15gH SAfaEIse I 9gd s
IS BT B, S UH Yea deew AW sk
AWM agghlt A9 B, MW I THR &
Mg YgET gran &, o sfiedt ofin afeEt @
?w(q@fﬁm)aﬂtﬁwmwmﬁa

I

42. Tafafaa st 4 @ F9E w6, 39 i=se §

fifgq walfus ahama, Ifege o fufes

G i Garan &9 A fdfafed s @ 2

(a) W 3dET 3R YR A1 & fow
SIS 1 3Mfereh gar 3w AfaE § |

(b) @fFerse ATEEISH Jath! 1 IcqTE & &I
forn S TR, wif 3HE Afvew @@
T W ViRl I9TE IR |

(c) 3Iftreh AT | ATSEISH T TANT HE aTeAt
Al & fashedl 1 IMUFH T Ih @t
FHET =R |

(d) ufverse IS & ITFT Irefl W @l
FH H WE HAE-ATEH (TIBRED),
FN-OEGE  (TEsifaeE) MR A
wet 1 I =R |
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

Scientists studied the vernal window —
transition period from winter to the growing
season. They found that warmer winters with
less snow resulted in a longer lag time between
spring events and a more protracted vernal
window. This change in the spring timetable has
ecological, social and economic consequences —
for agriculture, fisheries and tourism. As the ice

melts earlier, the birds don’t return, causing a

Passage - 2

A global analysis of nitrogen use efficiency —
a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent

greenhouse and ozone depleting gas, and other

: SR : fi £ it llution, includi
delay, or lengthening in springtime ecological e s g RO Ty
eutrophication of lakes and rivers and
events. 4 s 5
contamination of river water.
41. With reference to the above passage, the|42. Which one of the following statements best
following assumptions have been made : reflects the most logical, rational and crucial
message implied by the passage ?
1. Global ing i i ing to com
eostibes cme e ik (a) An enhanced efficiency of use of nitrogen
early and for longer durations. is imperative for both food production
2. Early spring and longer period of spring and environment.
is not good for bird populations. (b) Production of synthetic nitrogen
fertilizers cannot be stopped as it will
Which of the above assumptions is/are adversely affect global food security.
correct ? (¢)  Alternatives to crops that require excess
of nitrogen should be identified and
(a) 1lonly
cultivated.
(b) 2 only (d) Conventional agriculture using
synthetic fertilizers should be replaced
(¢) Both1and2 )
with agroforestry, agroecosystems and
(d) Neither 1 nor 2 organic farming.
XDTG-S-DNK (23-A)
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Ti=og - 3

wia-fawrs et # gnofig
Aeafo ok wgwy SoEy =™ #®)
e fagidl % w9 § FE 9w & 1 ¥ o
g e & ToHifas o anfdfe fasedt @i
wwIfed #d & | onft Ik, sl Serarg dited
Rrgt-amatsti o w= § I gH fagia gl *
e gdummfa 78 571 ue § | =, =l o
§ @ goionfyd @ | quifl, ey afeds
% gl H e IWhe ot wmy @
TSR AT 8 | 37T - a§i
% g forias w7 wer g foh Seery afteda @
3cfifeq =aferdi 1 omes 24 % fow damem,
Wenfifrat ot fafem fhg yor swm 4 @
A | FeErg % fav § =, gewE S e
FH 6 wad q6 it TE 2, fow e
STy Wi % STTET AgReH & o v
3R T o gam & fau afagfd, 1w
1t =ATIH RN Wit ® |

43. Trafafga #ot § @ S ©, 39 ai=se
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L

SR =k Haite Jfehges, dehama 3 foriaes
e ! FaTaH &9 # gfdfefed s g 2
Ay = gt 98 Sy SR /ameial
% foemi # fowam & s@n gen @ =nfeu |
wfeRefia gaee R fova # ommHE &9 @
foafta 8 3t 371 Qe g 2 |

g8 & H ToEy uiEdd & R
Al /Serary N B wmenst
fraern & 1 T T gEr 9 R |
Sty itad, @yt rfirar #, srftrerax
fopfa <3 % rwr gu €, sfoe @
W& 1 I 31T TU&THA AfH &I
=18y |

(a)

(b)

(c)

(d)

44. E qAYA P, Adani¥es &9 & G Ro afies

45.

46.

(24-A)

TG AN A H 1T H Q & T 7 | AR
& @y P, diffe &9 & FARG S% aifies
TR W X F 198 d Q B Jar g, @
feaffead a s adi 2 2

(@) i R=S

Mb) R>S

(). " R<S

d R<S

g fhad o quiss € @ 1186 =t fawifa
T T ITHA 31 AT B 2

(a) 6
(h) =17
(e) 158

d 9

uH #IfST, pp, qq 3 rr, 2-371 i T §,
G|3TP<(1<I‘%l'an%pp+qq+rr=t1:0,?i€f
tt0 I3 3-37hi i TE&A B, Fomem sifaw 31
I 8, @ Fefafga st w fomm Hifve

1. p % 999 HHEI 6 &1 5 2 |

2. g% GWE AHE 6 HEI1 6 B |

39 HeE § A PH-AVA T B/ 2
Had 1

Fad 2

1 3R 2 @M1

ER I i )

(a)
(b)
()
(d)



Passage - 3

Along with sustainable lifestyles, climate
justice is regarded as a significant principle in
environmental parlance. Both the principles have
bearings on political and economic choices of the
nation. So far, in our climate change summits or
compacts, both the principles have eluded
consensus among nations. Justice, in the judicial
sense, is well defined. However, in the context of
climate change, it has scientific as well as
socio-political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to support
the victims of climate change. Justice in climate
is not confined to actions relating to mitigation,
but includes the wider notion of support for
adaptation to climate change and compensation
for loss and damage.

43. Which one of the following statements best
reflects the most logical, rational and crucial
message conveyed by the passage ?

(a) Climate justice should be ingrained in
detail in the rules of all the new climate

compacts/agreements.

(b) Environmental resources are unevenly
distributed and exploited across the
globe.

(¢) There is an impending issue of dealing
with a huge number of climate change

victims/climate refugees.

(d) Climate change in all its connotations is
mostly due to developed countries and
therefore their share of burden should

be more.
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(25-A)

44. A principal P becomes Q in 1 year when

compounded half-yearly with R% annual rate
of interest. If the same principal P becomes Q
in 1 year when compounded annually with 5%
annual rate of interest, then which one of the

following is correct ?

(@ R=S
(b) R>S
() R<S
(d R<S

How many natural numbers are there which
give a remainder of 31 when 1186 is divided
by these natural numbers ?

(a) 6
() 578
(0 8
d 9

Let pp, qq and rr be 2-digit numbers where
p<q<r.prp+qq+rr=tt0,wherett0isa
3-digit number ending with zero, consider the

following statements :
1. The number of possible values of p is 5.

2. The number of possible values of q is 6.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2
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47.

48.

49.

50.

(b) 8028
(c) 8878
(d 9238
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417.

48.

49.

50.

XDTG-S-DNK

What is the sum of all 4-digit numbers less
than 2000 formed by the digits 1, 2, 3 and 4,
where none of the digits is repeated ?

(a) 7998
(b) 8028
(c) 8878
(d) 9238
What is the number of selections of

10 consecutive things out of 12 things in a
circle taken in the clockwise direction ?

(a) 3

) 23
(o 12
(d 66

If today is Sunday, then which day is it exactly
on 1019 th day ?

(a) Wednesday
(b) Thursday
(¢) Friday

(d) Saturday

There are three traffic signals. Each signal
changes colour from green to red and then
from red to green. The first signal takes
25 seconds, the second signal takes 39 seconds
and the third signal takes 60 seconds to
change the colour from green to red. The
durations for green and red colours are same.
At 2:00 p.m, they together turn green. At what
time will they change to green next,
simultaneously ?

(a) 4:00 p.m.
(b) 4:10 p.m.
(¢) 4:20 p.m.
(d 4:30 p.m.

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

Sourcing food from non-agricultural lands
(uncultivated systems such as forests, wetlands,
pastures, etc) in addition to agricultural lands
enables a systemic approach to food consumption.
It allows rural and tribal communities to sustain
themselves for the whole year and steer clear of
natural disasters and season-induced shortfalls
of agricultural food. Since the productivity of
trees is often more resilient to adverse weather
conditions than annual crops, forest foods often
provide a safety net during periods of food
shortages caused by crop failure; forest foods also
make important contributions during seasonal

crop production gaps.

51. Which one of the following statements best

reflects the most logical and rational message
conveyed by the author of the passage ?

(a) Food yielding trees should replace other
trees in rural and tribal areas and

community owned lands.

(b) Food security cannot be ensured in India
with the present practice of conventional
agriculture.

(¢) Wastelands and degraded areas in India
should be converted into agroforestry
systems to help the poor.

(d) Agroecosystems should be developed in
addition to or along with conventional
agriculture.

(27-A)
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uftess - 2

siasifasl % I/gETET 3R srede %
SR U ATERAl AW AEER R, 3@ u® fR
Tyt 1 e Reamt &1 # s gar 2 |
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52. ﬁwf‘aﬁaaasﬁﬁﬁaﬁmmw,saqma
g fou T waifye gfegea ot saeEh
TG I HaH &9 § giafeted o @ 2

(a) 3I9gH FRIE IR MR T
HETH B |

(b) @M ¥ wAfewiim SrEwar @ sgET
AMEYTF 2 |

(© 3Sfyayfet haved & wor # @
T P w1 w@ite T smyfie
fafere Save § srafifia 2 |

(@) 3fwyfmin dufEl w5 sew st ain
RGUIC I |G- B 1 B P R ) T
fema s =nfau |

uftess - 3
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¥ e we Hiwa R, s@ w® HE sy
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53. fmafefiad wert § & wla o, 39 s &

wH I gatan &9 § gfafafad s & 2

@) favawfe a7 % fu, wra = aeife
e fien § faw w0 B sravawan
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(b) YA U fova-wfed 78 s7 aar w@ifs
T® FH NFIEE W A @ = 2 w2
3R 7 € 39 gaftfa s @ 2 |

© Al fiem yomeft § 3= frem % v
HIA TgH HH | AF & By Fm
=1y |

(@ foameEt % e st % Aran-far frew
3R qoreremqul fren % @t iy e
EEE
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52. Which one of the following statements best|53. Which one of the following statements best
reflects the most logical and practical message reflects the crux of the passage ?

conveyed by the passage ?

(a) To become a global power, India needs to

(a) It is necessary to put proper effluent invest in universal quality education.
treatment protocols in place.

(b) India is unable to become a global power

() It is  necessary to  promote because it is not focussing or promoting
environmental awareness among people. knowledge economy.

(c) Spread of drug-resistant bacteria cannot (¢) Our education system should focus more
be done away with, as it is inherent in on imparting skills during higher
modern medical care. education.

(d) Pharma-manufacturing companies (d) Parents of many school children are
should be set up in remote rural areas, illiterate and are unaware of the
away from crowded towns and cities. benefits of quality education.

XDTG-S-DNK (29-A)

Passage - 2

While awareness on use/misuse and
abuse of antibiotics is common knowledge, as
is the impact of dosing poultry with
antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.
The occurrence of drug-resistant bacteria

surrounding the pharma manufacturing

plants is well known.

Passage - 3

Benefits of good quality school education
accrue only when students complete and leave
school after having acquired the gateway skills.
Like one learns to walk before running, similarly
one picks up advanced skills only after picking
the basic foundational skills. The advent of the
knowledge economy poses new challenges, and
one of the severe consequences of having an
uneducated workforce will be our inability to
keep pace with the global economy. Without a
strong learning foundation at the primary level,
there can be no improvement in higher education

or skill development.



54. 40 = gATHR &Y @S § 3 I 4w (AW

55.

56.
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ST, ST ShHTh-1) % 9TH T Sodll & | 39
Tedl Wl geunad foum § o gediaid (9r9)
fope ST } | = HHIB-1 39 Sedt @ S=
SHHTH-2 1 I AT 7, T HHTH-2 38 a1
HTH-4 ! ITH AT 8, T=1 FHHH-4 39 F=
SHTh-7 I I8 HLaT 7, 3 36 %0 § @ om
o fpar Smar 2 | W@ fpad afEddl (s=n
SHHTh-1 ! FACITR) & o1 I8 ool TR & &=
HuTh-1 % BTl g 2

(a) 14

(b) 15

(c)i 516

(d)si 17

HIHH
Z,ZYYYXXXXWWWWW,.. A

I T 92 T 8 2

(a) H

)l

(c) "

d M

N : Wpa@%qﬁ?

W—I:pxqi@l%?ﬁ@l

FY7-2: p2 I & 28 |

U ¥ 3R weEl % sR § fefafed § @

-5 T TE 2 2

(a) 39 Y &I IW, aA1 & & fopet wh o
1 3Fhel AT R fem < wewar B, foeeg

T FHUAT I ITehel I L AGT e S
Teha |

39 ¥ I IW, gH1 7 F Forel oft w o
%1 3Tehel ITANT T T o1 weha1 2 |

39 U H IH, A1 HAA Bl TH Y
I T S wehar B, foheg gHI A @
foreft weh U T 3Mehel ITANT H A fea
ST TRl |

39 Y H IA, AT HAA B TH G919
39T hteh ot T fear S wepan |

(b)

(c)

(d)

57.

58.

(30-A)

M (p+q-1) TS 8 (p—q+1)F, &l
p,qﬁ(r‘{’ﬁ'cﬁ%?

FY-1: (p—q) UTCHE 2 |
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T 3Tehel ITANT K e 1 Ghat B |

39 Y W IW, Al KA H1 TH Gy
39ANT Y fn o wehar @, fhg AT A @
ferelt e o 1 31kl I9FT T TRl e
ST Fehl |

39 Y W A, A1 HAA B TH 1Y
TN e oft 78T fear s wewar |

feft sfifodier d, 75 =afeaal 3 = o,

60 M 3 S oft 3 15 AfFadt 3 =

R I M A | gy o I et safe 3

TR TE ot | T Afdd I HE-H-HH TH U

vy fomm |

o e fora safer safedr g 2

$Y7-1: 50 ATl 4 g4 fomm |
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TS $ad qU o A AfFEl
T <t Ut T oft |

I9YH Y9 3 HeHl & 9R § fy=fefaa § @
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(a) 39 9 & IW, g A 9 foreft & o

1 Iehel ITAM T I Hehar B, fopmg

T HAT T IAh ITAN R T femr

Gehdl |

39 WA I IH, gH 8 A foreft oft ©b e

T 3Thed ITAT KL fear 51 Fehat B |

39 U H IA, qHl HUYEl B TH G91Y

IR H e S gehar B, fobeg ST A @

foreft Ush e T 3Tehed ITANT S &l e

ST Hehell |

39 W I IW, I KA T Th A1Y

39T ek oft TE fean s weRar |

AL

(b)

(c)

(d)

(b)

(c)

(d)



54. 40 children are standing in a circle and one of | 57.
them (say child-1) has a ring. The ring is
passed clockwise. Child-1 passes on to child-2,
child-2 passes on to child-4, child-4 passes on
to child-7 and so on. After how many such
changes (including child-1) will the ring be in
the hands of child-1 again ?

(a) 14

b): 15

(¢ 16

@ 17

55. What is the middle term of the sequence

752, Y, Y, Y, X, X X X, We WaW oW, WA ?
(a H
h) 1
58.

(|

d M

56. Question : Is p greater than q ?

Statement-1: p X q is greater than zero.

Statement-2 : p? is greater than q?.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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Question : Is (p + q —r) greater than
(p—q + 1), where p, q and r are
integers ?

Statement-1: (p —q) is positive.

Statement-2 : (p —r) is negative.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone. :

(d) The Question cannot be answered even
by using both the Statements together.

In a party, 75 persons took tea, 60 persons
took coffee and 15 persons took both tea and
coffee. No one taking milk takes tea. Each
person takes at least one drink.

Question : How many persons attended the

party ?
Statement-1 : 50 persons took milk.
Statement-2 : Number of persons who

attended the party is five times
the number of persons who took
milk only.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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60.
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(b)

(d)

(b)

(d)
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aftess - 1

faen % Riwm # sfa B 6

FEH h GRT THSET T R | 143 vl %
TEifi® S qRG (Jean Buridan) I @A
Feol-vfad 3R 3! fahedl 3R srfifSemansit &
FRU T HA A @A - aR °F et | 3@
FEF H, TH T YH % q GAH Y F AHH
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Area-faa R faam & fouw w18 e @ &
Bied, @ favfem ik s1fre #feT & smar 2
St 1 &9 fasweawd B | 3RS @nlt % U Sfe
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61. frfofaa wurt § § S-a1 v, I qiede
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(a)

(b)

(c)

(d)

(32-A)
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59.

Consider a 3-digit number.
Question : What is the number ?

The sum of the digits of the
number is equal to the product
of the digits.

The number is divisible by the
sum of the digits of the number.

Statement-1 :

Statement-2 :

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

The paradox of choice is illustrated by the
story of Buridan’s ass. Jean Buridan, the 14th
century philosopher, wrote about free will and
the inability to choose due to numerous choices
and uncertainties. In the story, a donkey stands
between two equally appealing stacks of hay.
Unable to decide which to eat, it starves to death.
Changes in technology and innovations such as
smart phones and tablets only exacerbate our
glut of choices. Constant connectivity and

overconsumption of real-time data and social

media can leave little room for self-reflection and

60. For five children with agesa <b <c<d < e
any two successive ages differ by 2 years. rest, making decisions more difficult. Life is
Question : What is the age of the youngest| about choices. Many people are overwhelmed
ild ?
child ¢ with attractive life choices, yet find themselves
Statement-1: The age of the eldest is 3 times h d :
the youngest. URSHPPY S
Statement-2 : The average age of the children | g1, Which one of the following statements best
is 8 years. . ; s
- o : reflects the most logical message implied by
Which one of the following is correct in respect s 5
of the above Question and the Statements ? the shove passage ¢
(a) The Question can be answered by using (a) Modern technology enfeebles societal
one of the Statements alone, but cannot structure and makes life difficult.
be answered using the other Statement VA Lk
fons (b) Modern life is full of uncertainties and
(b) The Question can be answered by using ehdlShs ISR wda oo
either Statement alone. (¢) We are influenced by the opinion of
(¢) The Question can be answered by using others and have no courage to follow our
both the Statements together, but own convictions.
cannot be answered using either
Statomint-alone: (d) In our lives, having too few choices may
(d) The Question cannot be answered even not be a good thing, but having too many
by using both the Statements together. can be equally as difficult.
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Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if) one can make the

transition between them if necessary.

62. Regarding the financialization of household
savings, which of the following statements
best reflect the solutions that are implied by
the passage ?

1. A flexible environment is needed to
develop solutions.

2. Households need customised solutions.

3. Innovations in financial technology are
required.

Select the correct answer using the code given

below :

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

XDTG-S-DNK

63.

Passage - 3

Pharmaceutical patents grant protection to
the patentee for the duration of the patent term.
The patentees enjoy the liberty to determine the
prices of medicines, which is time-limited to the
period of monopoly, but could be unaffordable to
the public. Such patent protection offered to the
patentees is believed to benefit the public over
the
research and development (R&D), although it

longer term through innovations and
comes at a cost, in the nature of higher prices for
the patented medicine. The patent regime and
price protection — through a legally validated
high price for the medicine during the currency of
the patent — provide the patentee with a
legitimate mechanism to get returns on the costs

incurred in innovation and research.

Based on the above passage, the following
assumptions have been made :

1. Patent protection given to patentees puts
a huge burden on public’s purchasing
power in accessing patented medicines.

other countries for

products is

2. Dependence on

pharmaceutical a huge

burden for developing and poor countries.

3. Providing medicines to the public at
affordable prices is a key goal during the
public health policy design in many
countries.

4. Governments need to find an appropriate
balance between the rights of patentees
and the requirements of the patients.

Which of the above assumptions are valid ?

(@) 1land2
(b) 1land4
(¢) 3and4
(d 2and3

(35-A)
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Passage - 4

India should ensure the growth of the digital

economy while keeping personal data of citizens

secure and protected. No one will innovate in a

surveillance-oriented environment or in a place

where an individual’s personal information is

compromised. The ultimate control of data must

reside with the individuals who generate it; they

should be enabled to use, restrict or monetise it

as they wish. Therefore, data protection laws

should enable the right kind of innovation — one

that is user-centric and privacy protecting.

65.
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Based on the above passage, the following

assumptions have been made :

1. Protection of privacy is not just a right,
but it has value to the economy.

2. There is a fundamental link between
privacy and innovation.

Which of the above assumptions is/are valid ?

(a) 1lonly

(b) 2only

(¢ Bothland2

(d) Neither 1 nor 2

In an examination, the maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

(b): 17

() 23

(d 35

66.

67.

68.

(875K}

A flag has to be designed with 4 horizontal
stripes using some or all of the colours red,
green and yellow. What is the number of
different ways in which this can be done so

that no two adjacent stripes have the same

colour ?

(a) 12
(b) 18
© 24
(d 36

A rectangular floor measures 4 m in length
and 2:2 m in breadth. Tiles of size 140 cm by
60 cm have to be laid such that the tiles do not
overlap. A tile can be placed in any orientation
so long as its edges are parallel to the edges of
the floor. What is the maximum number of

tiles that can be accommodated on the floor ?

(a) 6
b 7
() EREE .
(@) 9

There are five persons P, Q, R, S and T each
one of whom has to be assigned one task.
Neither P nor Q can be assigned Task-1.
Task-2 must be assigned to either R or S. In

how many ways can the assignment be done ?

(a) 6

(b) 12
(c) 18
d 24
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69. There are large number of silver coins
weighing 2 gm, 5 gm, 10 gm, 25 gm, 50 gm
each. Consider the following statements :

1. To buy 78 gm of coins one must buy at
least 7 coins.

2. To weigh 78 gm using these coins one can
use less than 7 coins.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

70. Consider the following :

I. A+B means A is neither smaller nor
equal to B.
II. A -B means A is not greater than B.
III. A x B means A is not smaller than B.
IV. A+ B means A is neither greater nor
equal to B.
V. A + B means A is neither smaller nor
greater than B.
Statement: PxQ, P-T;T=R, R+S
Conclusion-1: Q=T
Conclusion-2: S+Q
Which one of the following is correct in respect
of the above Statement and the Conclusions ?
(a) Only Conclusion-1 follows from the
Statement.
(b) Only Conclusion-2 follows from the
Statement.
(¢) Both Conclusion-1 and Conclusion-2
follow from the Statement.
(d) Neither Conclusion-1 nor Conclusion-2
follows from the Statement.
XDTG-S-DNK

Directions for the following 3 (three) items :

Read the following three passages and answer the

items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

In India, while the unemployment rate is a

frequently used measure of poor performance of

the economy, under conditions of rising school

and college enrolment, it paints an inaccurate

picture. The reported unemployment rate is

dominated by the experience of younger Indians

who face higher employment challenges and

exhibit greater willingness to wait for the right

job than their older peers. The unemployment

challenge is greater for people with secondary or

higher education, and rising education levels

inflate unemployment challenges.

71.

(39-A)

Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a

function of rising education and

aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.
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(a) DACB

(b) CDAB

(0 DCCA

(d) DDCA

(40-A)
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Passage - 2

“Science by itself is not enough, there
must be a force and discipline outside the
sciences to coordinate them and point to a
goal. It is not possible to run a course aright
when the goal itself has not been rightly
placed. What science needs is philosophy —
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers, precisely
like science, for lack of philosophy.
Philosophy bears to science the same
relationship which statesmanship bears to
politics movement guided by total
knowledge and perspective, as against
aimless and individual seeking. Just as the
pursuit of knowledge becomes scholasticism
when divorced from the actual needs of men
and life, so the pursuit of politics becomes a
destructive bedlam when divorced from
science and philosophy.”

Which one of the following statements best
reflects the most rational, logical and practical
message conveyed by the passage ?

(a) Modern statesmen need to be well
trained in scientific methods and
philosophical thinking to enable them to
have a better perspective of their roles,

responsibilities and goals.

(b) It is not desirable to have Governments
managed by empirical statesmen unless
well mixed with others who are
grounded in learning and reflect

wisdom.

(¢) As the statesmen/bureaucrats are the
products of a society, it is desirable to
have a system of education in a society
that focuses on training its citizens in
scientific method and philosophical

thinking from a very early age.

(d) It is desirable that all scientists need to
be philosophers as well to make their
work goal-oriented and thus purposeful

and useful to the society.

73.

74.

75.

Passage - 3

“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, I
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,
anger and guile, nor act unfairly toward one
another.”

Based on the above passage, which one of the
following terms best expresses the ultimate
goal of the state ?

(a)

Personal safety

(b) Health of body and mind

(¢) Communal harmony

(d) Liberty

What is the remainder if 2192 is divided by
6?

(a O

()5

) -2

d 4

Consider the sequence

ABC__ ABC_DABBCD_ABCD
that follows a certain pattern.
Which one of the following completes the

sequence ?

(a) DACB
(b) CDAB
(c0 DCCA
(d) DDCA

(41-A)
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76. AB and CD are 2-digit numbers. Multiplying
AB with CD results in a 3-digit number DEF.
Adding DEF to another 3-digit number GHI
results in 975. Further A, B,C, D, E, F, G, H, I
are distinct digits. If E = 0, F = 8, then what is
A+B+C equalto?

(a) 6
by T
e -8
@ 9

77. Consider the following statements in respect
of five candidates P, Q, R, S and T. Two
statements are true and one statement is
false.

True Statement : One of P and Q was selected
for the job.

False Statement : At least one of R and S was
selected for the job.

True Statement : At most two of R, S and T
were selected for the job.

Which of the following conclusions can be

drawn ?

1. At least four were selected for the job.

2. S was selected for the job.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2

XDTG-S-DNK

78.

79.

80.

(43-A)

Let P, Q, R, S and T be five statements such
that :

I. IfPis true, then both Q and S are true.
II.. IfR and S are true, then T is false.
Which of the following can be concluded ?

1. If T is true, then at least one of P and R
must be false.

2. IfQis true, then P is true.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

A cuboid of dimensions 7 cm X 5 cm X 3 cm is
painted red, green and blue colour on each
pair of opposite faces of dimensions
7em x:5:iem, b em x 3 em, 7 cm %3 em
respectively. Then the cuboid is cut and
separated into various cubes each of side
length 1 cm. Which of the following
statements is/are correct ?

1. There are exactly 15 small cubes with no
paint on any face.

2. There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 only

(¢c) Both1and?2
(d) Neither 1 nor 2

The letters of the word
“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many
positions of the letter/letters will remain
unchanged ?

(a) None
(b) One
(¢) Two
(d) Three
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

We often hear about conflicts among
different States in India over river waters. Of the
20 major systems, 14 are already
water-stressed; 75% of the population lives in
water-stressed regions, a third of whom live in

river

water-scarce areas. Climate change, the demands
of rising population and the need for agriculture
to keep pace, and increased rate of urbanization
and industrialization will exacerbate water
stress. According to the Constitution of India,
water is a State subject and not that of the
Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing
demands of various stakeholders is a basin-based
approach to allocate water amongst constituent
regions and States. Allocating fair share of water
to them requires assessments based on objective
criteria, such as specificities of the river basin,
size of dependent population, existing water use
and demand, efficiency of use, projected future
use, etc. while ensuring the environmental needs
of the river and aquifers.

1. Which one of the following statements best
reflects the most rational, practical and
immediate action required to ensure fair and
equitable allocation of water to different
stakeholders ?

(a) A national, pragmatic, legal and policy
framework for water allocation should
be made.

(b) All river systems of the country should
be linked and huge aquifers created.

(c) Water channels between regions of
water surplus and regions of water
deficit should be created.

(d) To mitigate water crisis, water demand
of sectors such as agriculture and
industry should be reduced.

XDTG-S-DNK

2.

(3-A)

Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer
from anaemia. According to studies, they are
anywhere from 5 — 15% less productive than they
could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
adequately nourished peers. For an economy that
will be more dependent on highly skilled
workers, this poses a significant challenge. And it
is one that really should be addressed given

India’s demographic outlook.

Which one of the following statements best

reflects what is implied by the passage ?

(a) Education system must be strengthened

in rural areas.

(b) Large scale and effective
implementation of skill development

programme is the need of the hour.

(¢) For economic development, health and
nutrition of only skilled workers needs

special attention.

(d) For rapid economic growth as envisaged
by us, attention should be paid to health

and nutrition of the people.
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Passage - 3 4. Raj has ten pairs of red, nine pairs of white
In India, a majority of farmers are and eight pairs of black shoes in a box. If he
marginal and small, less educated and randomly picks shoes one by one (without
possess low adaptive capabilities to climate replacement) from the box to get a red pair of
change, perhaps because of credit and other shoes to wear, what is the maximum number
constraints. So, one cannot expect of attempts he has to make ?
autonomous adaptation to climate change. @ 27
Even if it was possible, it would not be
sufficient to offset losses from climate (b) " 36
change. To deal with this, adaptation to (c) 44
climate change is paramount, alongside a (d) 45
fast mitigation response. Another solution is
to have a planned or policy-driven 5. In how many ways can a batsman score
adaptation, which would require the exactly 25 runs by scoring single runs, fours
government to come wup with policy and sixes only, irrespective of the sequence of
recommendations. Perception is a necessary scoring shots ?
pre-requisite for adaptation. Whether &) 18
farmers are adapting agricultural practices ® 19
to climate change depends on whether they
perceive it or not. However, this is not always € 20
enough for adaptation. It is important how a d 21
farmer perceives the risks associated with
climate change. 6. There are four letters and four envelopes and
exactly one letter is to be put in exactly one
3.  Which one of the following statements best envelope with the correct address. If the
reflects the most logical and rational message letters are randomly inserted into the
conveyed by the author of the passage ? envelopes, then consider the following

(a) Adaptation to climate change and statements :
mitigation response are basically the 1. It is possible that exactly one letter goes
responsibilities of the government. into an incorrect envelope.

(b)  Climate change causes a change in 2.  There are only six ways in which only
government policies regarding land use two letters can go into the correct
patterns in the country. envelopes.

(¢0 Risk perceptions of farmers are Which of the statements given above is/are
important for motivating them for it
taking adaptation decisions.

(a) 1lonly

(d) Since mitigation 1is not possible,
governments should come up with (b)  Zonly
policies for quick resporise to climate (c) Both1and2
change. (d) Neither 1 nor2
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T ek is the fembinilos when Directions for the following 3 (three) items :

85 x 87 x 89 x 91 x 95 x 96 is divided by 100 ? Read the following three passages and answer the
items that follow the passages. Your answers to these

@ 0 items should be based on the passages only.

®). 1 Passage - 1

(e) 2

@y 4 The emissions humans put into the

atmosphere now will affect the climate in the

8. What is the unit digit in the expansion of middle of the century and onwards. Technological

(57242)9<7x6x3x1 9 change, meanwhile, could make a future
W 9 transition away from fossil fuels cheap or it
b 4 might not, leaving the world with a terrible

choice between sharply reducing emissions at
E:)) : huge cost or suffering through the effects of

unabated warming. Businesses that do not hedge
9. If ABC and DEF are both 3-digit numbers against the threat of uncertain outcomes fail. The
such that A, B, C, D, E and F are world cannot afford such recklessness on climate

distinct  non-zero  digits such  that change.
ABC + DEF = 1111, then what is the value of

A+B+C+D+E+F ? 11. Which one of the following statements best

reflects the crucial message conveyed by the

(a) 28

author of the passage ?
(b) 29

(a) Businesses that cause emissions may
o 10 need to close down or pay for pollution in
d 31 RitiRe

10. D is a 3-digit number such that the ratio of the (b) The only solution is technological

number to the sum of its digits is least. What development related to the issues of
is the difference between the digit at the climate change.
hundred’s place and the digit at the unit’s (¢) Waiting to deal with carbon emissions
place of D ? until technology improves is not a wise
(a) 0 strategy.
(b) 7 (d) Since future technological change is
) 8 ’ uncertain, new industries should be
@ 9 based on renewable energy sources.
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Passage - 2

Environmental problems cause health
problems. Substantial changes in lifestyle can
reduce environmental or health problems, but
this idea appears almost impossible to adopt.
With environmental problems, individual efforts
can be perceived as having a negligible effect and
therefore lead to inertia. With health, on the
other hand, individual choices can make the
difference between life and death, literally. And
yet, barring a few, there seems to be the same

collective lethargy towards making their choices.

12. Which one of the following statements best
implies the most rational assumption that can

be made from the passage ?

(a) We are likely to spend more money on

cure than prevention.

(b) It is the job of the government to solve
our environmental and public health

problems.

(¢c) Health can be protected even if
environmental  problems  go on

unattended.

(d) Loss of traditional lifestyle and the
influence of western vélues led to some

unhealthy ways of living.

13.

Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous diets that
do not provide the daily nutrients for them to
develop fully. Part of the reason nutrition is
under threat worldwide is that our food systems
are not properly responding to nutritional needs.
Somewhere along that long road from farm to

fork, there are serious detours taking place.

Which one of the following statements best

reflects the crux of the passage ?

(a) The scheme of Universal Basic Income
should be implemented worldwide as a

way of poverty alleviation.

(b) We must place food-based nutrition at

the centre of our policy debate.

(¢)  Nutritional status of food should be
improved by creating appropriate
genetically modified crops.

(d) Using modern food  processing

technologies, we must fortify food items

with required nutrient elements.

XDTG-S-DNK (9-A)
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22

(a) ad 73 117

(b) I 113 137

(¢) haw 73 138
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(b) 25
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15.

16.
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Three of the five positive integers p, q, 1, s, t
are even and two of them are odd (not
necessarily in order). Consider the following :

1. p+q+r-s-—t is definitely even.
2. 2p+q+2r—2s+t is definitely odd.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following in respect of prime
number p and composite number c.

p+c
p-c

1 can be even.

2.  2p + ccan be odd.

3. pccan be odd.

Which of the statements given above are
correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1land3only

(d 1,2and3

A 3-digit number ABC, on multiplication with
D gives 37DD where A, B, C and D are
different non-zero digits. What is the value of
A+B+C?

(a) 18
(b) 16
(c) 15

(d) Cannot be
insufficient data

determined due to

17.

18.

19.

20.

(11-A)

For any choices of values of X, Y and Z, the
6-digit number of the form XYZXYZ is
divisible by :

(a) 7 and 11 only

(b) 11 and 13 only

(¢) 7and 13 only

(d 7,11 and 13

125 identical cubes are arranged in the form of
a cubical block. How many cubes are
surrounded by other cubes from each side ?

(@) 27

(b) 25
() 21
(d 18

How many distinct 8-digit numbers can be
formed by rearranging the digits of the
number 11223344 such that odd digits occupy
odd positions and even digits occupy even
positions ?

(a) 12
(b) 18
() 36
d 72

A, B, C working independently can do a piece
of work in 8, 16 and 12 days respectively. A
alone works on Monday, B alone works on
Tuesday, C alone works on Wednesday; A
alone, again works on Thursday and so on.
Consider the following statements :

1. The work will be finished on Thursday.
2. The work will be finished in 10 days.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage -1

To tackle the problem of pollution in cities,
policy makers think that drastic actions like
temporary use of odd-even number scheme for
vehicles, closing schools, factories, construction
activities, and banning the use of certain type of
vehicles are a way forward. Even then the air is
not clean. Vehicles more than 15 years old
comprise one percent of the total; and taking
them off the road will not make any difference.
Banning certain fuels and car types arbitrarily is
not proper. Diesel engines produce more PM 2-5
and less CO,4 than petrol or CNG engines. On the
other hand, both diesel and CNG engines
produce more NO, than petrol engines. No one
has measured the amount of NO, that CNG
engines are emitting. Arbitrary bans on vehicles
that have passed mandated fitness tests and
periodic pollution tests are unfair. What is
needed is the scientific and reliable information
about the source of pollutants on a continuing
basis and the technologies that will work to
reduce pollution from them.

21. Which one of the following statements best
reflects the most logical and rational
implication conveyed by the passage ?

(a) Arbitrary curbs on vehicles to reduce
pollution are difficult to implement.

(b) Knee-jerk reactions cannot solve the
problem  of pollution but an
evidence-based approach will be more
effective.

(¢) A heavy penalty should be enforced on
those driving without periodic pollution
tests.

(d) In the absence of laws to deal with the
problems of pollution, the
administration tends to make arbitrary
decisions.

XDTG-S-DNK

Passage - 2

Good corporate governance structures
encourage companies to provide accountability
and control. A fundamental reason why
corporate governance has moved onto the
economic and political agenda worldwide has
been the rapid growth in international capital
markets. Effective corporate governance
enhances access to external financing by
firms, leading to greater investment, higher
growth and employment. Investors look to
place their funds where the standards of
disclosure, of timely and accurate financial
reporting, and of equal treatment to all

stakeholders are met.

22. Which of the following statements best reflects

the logical inference from the passage given

above ?

(a) It is an important agenda of the
countries around the world to ensure

access to good external financing.

(b) Good corporate governance improves the

credibility of the firms.

(¢) International capital markets ensure
that the firms maintain good corporate

governance.

(d) Good corporate governance paves the

way for robust supply chains.

(13-A)
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(a) T8 vk & fob wifomi =1 faam-am

Ty Sa-fafaear aren gfaega & & |
(b)
Sta-fafaea #t @ gge # |
(c)
% fomr 78t s W& 51 weRd |

)
o |
I 70 9@ 10 =8,

R ?
(a) 6
(b) 8
(c)7 213
(d) 215

7x + 96 fIMT 8 x A | x % fopae 7= gwa & 2

(a) 10
(b)) 11
(c): 12
(d) IFdd: 3FH

TR G (F1RH) T § o 3
i & wgg dafafae a6 e

B o emar A1t R 6 1o sTavear
% ITET YA ST a1 i R A w

9@ 11 ® 30 = 5,
11917921 =138, W23 @ 4 @ 15 F qH

qH WL, x HE o9 PIie 2, 3@ THR %

26.

217.

28.

29.

30.

(14-A)

qﬁp, q,raﬂ'{s@ﬁ?mﬁﬁm
m‘i%,ﬁ(p+q)(r+s)ﬁﬂ3ﬂﬂﬂﬂw%?
(a) 230

(b) 225

(o 224

@ 221

9 i 99 IR for@ X HIE T N 418 A1t 2 |
afg N =t 13 & fawfSa form Sme, &t Swwet
BT 2

(a)' 11

b 9

(o) STy

d 1

9-31hi i forelt T 1 TS FH 12 | @
T i 3 wen @ Ton R St @ 1wl
&A1 & bl BT INTHA 47 8 2

(a) 64

(b) 80

(c) 81

d 100

10 § 100 T for@ S aret @ft quitet & s
et @t 7R T ANTHS T R 2

(a) 855

(b) 856

{c) 910

@ 911

ABCD %5 @t 8 | AB 3 CD &% W T&h
fog; 3t BC 3k DA vo% W @ fim foig o
|4 & | 31 9% forget & @ fordl im famgadt =1
o & o foraa i Brys &9 snasa & 2
(a) 16

(b) 18

(c) 20

d 24



Passage - 3
Elephants are landscape architects,
creating clearings in the forest, preventing

overgrowth of certain plant species and allowing
space for the regeneration of others, which in turn
provide sustenance to other herbivorous animals.
Elephants fruits
propagating the seeds when they defecate in other

eat plants, and seeds,

places as they travel. Elephant dung provides
nourishment to plants and animals and acts as a
breeding ground for insects. In times of drought,

they access water by digging holes which benefits
other wildlife.

23. Which one of the following statements best
reflects the most logical and rational inference

that can be drawn from the passage ?

(a)

The home range of elephants needs to be
a vast area of rich biodiversity.

(b)

Elephants are the keystone species and
they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained

in the forests without the presence of

elephants.

(d) Elephants are capable of regenerating
forests with species as per their
requirement.

24. If7T09010=8, 90 11 @ 30=35,

11 @ 17 @ 21 = 13, what is the value of

2340157

(a) 6

(b) 8

e~ 18

(@ 15

25. Let x be a positive integer such that 7x + 96 is
divisible by x. How many values of x.are
possible ?

(a): - 10

() - L

ey 12

(d) Infinitely many

XDTG-S-DNK

26.

217.

28.

29.

30.

(15-A)

If p, q, r and s are distinct single digit positive
numbers, then what is the greatest value of
(Pp+qQr+s)?

(a) 230
(b) 225
() 224
" 221

A number N is formed by writing 9 for
99 times. What is the remainder if N is
divided by 13 ?

(@); .1l
th):. =9
{e). ¥
(d) ook

Each digit of a 9-digit number is 1. It is
multiplied by itself. What is the sum of the
digits of the resulting number ?

(a) 64
(b) 80
(c)- 81
(d 100

What is the sum of all digits which appear in
all the integers from 10 to 100 ?

(a) 855
(b) 856
() 910
(@ . 9%t

ABCD is a square. One point on each of AB
and CD; and two distinct points on each of BC
and DA are chosen. How many distinct
triangles can be drawn using any three points
as vertices out of these six points ?

(a); 16
(b) =18
(e 20
(d 24
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Directions for the following 5 (five) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

In India, the segregation of municipal waste
at source is rare. Recycling is mostly with the
informal sector. More than three-fourths of the
municipal budget goes into collection and
transportation, which leaves very little for
processing/resource recovery and disposal.
Where does waste-to-energy fit into all this ?
Ideally it fits in the chain after segregation
(between wet waste and the rest), collection,
recycling, and before getting to the landfill.
Which technology is most appropriate in
converting waste to energy depends on what is
in the waste (that is biodegradable versus
non-biodegradable component) and its calorific
value. The biodegradable component of India’s
municipal solid waste is a little over 50 per cent,
and biomethanation offers a major solution for
processing this.

31. Based on the above passage, the following
assumptions have been made :

1. Collection, processing and segregation of
municipal waste should be with
government agencies.

2. Resource recovery and recycling require
technological inputs that can be best
handled by private sector enterprises.

Which of the assumptions given above is/are

correct ?
(a) 1lonly
(b) 2only

() Both1and?2
(d) Neither 1 nor 2

32.

Which one of the following statements best
reflects the crux of the passage ?

(a) Generation of energy from municipal

solid waste is inexpensive.

(b) Biomethanation is the most ideal way of

generating energy from municipal solid

waste.

(¢) Segregation of municipal solid waste is

the first step in ensuring the success of

waste-to-energy plants.

(d) The biodegradable component of India’s
municipal solid waste is not adequate to
provide energy from waste
efficiently/effectively.

Passage - 2

There is a claim that organic farming is
inherently safer and healthier. The reality is
that because the organic farming industry is
still young and not well-regulated in India,
farmers and consumers, alike, are not only
confused about what products are best for them,
but sometimes use products in ways that could
harm them as well. For example, since organic
fertilizers are difficult to obtain on a large scale
in India, farmers often use farmyard manure,
which may contain toxic chemicals and heavy
metals. Certain plant sprays, such as Datura
flower and leaf spray, have an element called
atropine. If it is not applied in the right dose, it
can act on the nervous system of the consumer.
Unfortunately, how much and when to use it are

not well-researched or regulated issues.

XDTG-S-DNK (17-A)
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33.

34.

XDTG-S-DNK

Based on the above passage, the following

assumptions have been made :

1. Organic farming is inherently unsafe for

both farmers and consumers.

2. Farmers and consumers need to be

educated about eco-friendly food.

Which of the assumptions given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Which one of the following statements best
reflects the most logical, rational and practical
message conveyed by the author of the

passage ?

(a) In India, organic farming should not be
promoted as a  substitute for

conventional farming.

(b) There are no safe organic alternatives to

chemical fertilizers.

(¢) In India, farmers need to be guided and
helped to make their organic farming

sustainable.

(d) The aim of organic farming should not
be to generate huge profits as there is

still no global market for its products.

35.

Passage - 3

Food consumption patterns have changed
substantially in India over the past few decades.
This has resulted in the disappearance of many
nutritious foods such as millets. While food grain
production has increased over five times since
independence, it has not sufficiently addressed
the the
agriculture sector focussed on increasing food

issue of malnutrition. For long,
production particularly staples, which led to
lower production and consumption of indigenous
traditional fruits other
vegetables, impacting food and nutrition security

crops/grains, and
in the process. Further, intensive, monoculture
agriculture practices can perpetuate the food and
nutrition security problem by degrading the
quality of land, water and food derived through
them.

Based on the above passage, the following

assumptions have been made :

1. To implement the Sustainable
Development Goals and to achieve
zero-hunger goal, monoculture

agriculture practices are inevitable even
if they do not address malnutrition.

2. Dependence on a few crops has negative
consequences for human health and the
ecosystem.

3. Government policies regarding food
planning need to incorporate nutritional
security.

4.  For the present monoculture agriculture
practices, farmers receive subsidies in
various ways and government offers
remunerative prices for grains and
therefore they do not tend to consider
crop diversity.

Which of the above assumptions are valid ?

(a) 1,2 and 4 only

(b) 2and 3 only

(¢) 3and4only

d 1,2,3and4

(19-A)
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86. A box contains 14 black balls, 20 blue balls, | gg,
26 green balls, 28 yellow balls, 38 red balls
and 54 white balls. Consider the following
statements :

1. The smallest number n such that any
n balls drawn from the box randomly
must contain one full group of at least
one colour is 175.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least one ball of each
colour is 167.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

37. If ‘ZERO’ is written as ‘CHUR’, then how is
‘PLAYER’ written ?

(a) SOCAGT

(b) SODBGT

(¢c) SODBHT

(d) SODBHU

38. Consider the following statements :

1. Aisolder than B.

2. C and D are of the same age.

3. E is the youngest.

4. Fisyounger than D.

5. F is older than A. 40.

How many statements given above are

required to determine the oldest
person/persons ?

(a) Only two

(b) Only three

(¢)  Only four

(d) Allfive

XDTG-S-DNK (21-A)

- -

Consider the following including the Question

and the Statements :

There are 5 members A, B, C, D, E in a family.
Question : What is the relation of E to B ?
Statement-1: A and B are a married couple.
Statement-2 : D is the father of C.
Statement-3 : E is D’s son.

Statement-4 : A and C are sisters.

Which one of the following is correct in respect

of the above Question and Statements ?

(a) Statement-1, Statement-2 and
Statement-3 are sufficient to answer the

Question.

(b) Statement-1, Statement-3 and
Statement-4 are sufficient to answer the

Question.

(¢) Al

sufficient to answer the Question.

four statements together are

All four statements are not sufficient to

(d)

answer the Question.

Choose the group which is different from the
others :

(a) 17,37, 47,97
(b) 31,41,53,67
(e) 171,73,79,83

(d) 83,89,91,97
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

Scientists studied the vernal window —
transition period from winter to the growing
season. They found that warmer winters with
less snow resulted in a longer lag time between
spring events and a more protracted vernal
window. This change in the spring timetable has
ecological, social and economic consequences —
for agriculture, fisheries and tourism. As the ice

melts earlier, the birds don’t return, causing a

Passage - 2

A global analysis of nitrogen use efficiency —
a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent

greenhouse and ozone depleting gas, and other

: SR : fi £ it llution, includi
delay, or lengthening in springtime ecological e s g RO Ty
eutrophication of lakes and rivers and
events. 4 s 5
contamination of river water.
41. With reference to the above passage, the|42. Which one of the following statements best
following assumptions have been made : reflects the most logical, rational and crucial
message implied by the passage ?
1. Global ing i i ing to com
eostibes cme e ik (a) An enhanced efficiency of use of nitrogen
early and for longer durations. is imperative for both food production
2. Early spring and longer period of spring and environment.
is not good for bird populations. (b) Production of synthetic nitrogen
fertilizers cannot be stopped as it will
Which of the above assumptions is/are adversely affect global food security.
correct ? (¢)  Alternatives to crops that require excess
of nitrogen should be identified and
(a) 1lonly
cultivated.
(b) 2 only (d) Conventional agriculture using
synthetic fertilizers should be replaced
(¢) Both1and2 )
with agroforestry, agroecosystems and
(d) Neither 1 nor 2 organic farming.
XDTG-S-DNK (23-A)
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SR =k Haite Jfehges, dehama 3 foriaes
e ! FaTaH &9 # gfdfefed s g 2
Ay = gt 98 Sy SR /ameial
% foemi # fowam & s@n gen @ =nfeu |
wfeRefia gaee R fova # ommHE &9 @
foafta 8 3t 371 Qe g 2 |

g8 & H ToEy uiEdd & R
Al /Serary N B wmenst
fraern & 1 T T gEr 9 R |
Sty itad, @yt rfirar #, srftrerax
fopfa <3 % rwr gu €, sfoe @
W& 1 I 31T TU&THA AfH &I
=18y |

(a)

(b)

(c)

(d)

44. E qAYA P, Adani¥es &9 & G Ro afies

45.

46.

(24-A)

TG AN A H 1T H Q & T 7 | AR
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(@) i R=S

Mb) R>S

(). " R<S

d R<S

g fhad o quiss € @ 1186 =t fawifa
T T ITHA 31 AT B 2

(a) 6
(h) =17
(e) 158

d 9

uH #IfST, pp, qq 3 rr, 2-371 i T §,
G|3TP<(1<I‘%l'an%pp+qq+rr=t1:0,?i€f
tt0 I3 3-37hi i TE&A B, Fomem sifaw 31
I 8, @ Fefafga st w fomm Hifve

1. p % 999 HHEI 6 &1 5 2 |

2. g% GWE AHE 6 HEI1 6 B |

39 HeE § A PH-AVA T B/ 2
Had 1

Fad 2

1 3R 2 @M1

ER I i )

(a)
(b)
()
(d)



Passage - 3

Along with sustainable lifestyles, climate
justice is regarded as a significant principle in
environmental parlance. Both the principles have
bearings on political and economic choices of the
nation. So far, in our climate change summits or
compacts, both the principles have eluded
consensus among nations. Justice, in the judicial
sense, is well defined. However, in the context of
climate change, it has scientific as well as
socio-political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to support
the victims of climate change. Justice in climate
is not confined to actions relating to mitigation,
but includes the wider notion of support for
adaptation to climate change and compensation
for loss and damage.

43. Which one of the following statements best
reflects the most logical, rational and crucial
message conveyed by the passage ?

(a) Climate justice should be ingrained in
detail in the rules of all the new climate

compacts/agreements.

(b) Environmental resources are unevenly
distributed and exploited across the
globe.

(¢) There is an impending issue of dealing
with a huge number of climate change

victims/climate refugees.

(d) Climate change in all its connotations is
mostly due to developed countries and
therefore their share of burden should

be more.

XDTG-S-DNK
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44. A principal P becomes Q in 1 year when

compounded half-yearly with R% annual rate
of interest. If the same principal P becomes Q
in 1 year when compounded annually with 5%
annual rate of interest, then which one of the

following is correct ?

(@ R=S
(b) R>S
() R<S
(d R<S

How many natural numbers are there which
give a remainder of 31 when 1186 is divided
by these natural numbers ?

(a) 6
() 578
(0 8
d 9

Let pp, qq and rr be 2-digit numbers where
p<q<r.prp+qq+rr=tt0,wherett0isa
3-digit number ending with zero, consider the

following statements :
1. The number of possible values of p is 5.

2. The number of possible values of q is 6.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2
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417.

48.

49.

50.

XDTG-S-DNK

What is the sum of all 4-digit numbers less
than 2000 formed by the digits 1, 2, 3 and 4,
where none of the digits is repeated ?

(a) 7998
(b) 8028
(c) 8878
(d) 9238
What is the number of selections of

10 consecutive things out of 12 things in a
circle taken in the clockwise direction ?

(a) 3

) 23
(o 12
(d 66

If today is Sunday, then which day is it exactly
on 1019 th day ?

(a) Wednesday
(b) Thursday
(¢) Friday

(d) Saturday

There are three traffic signals. Each signal
changes colour from green to red and then
from red to green. The first signal takes
25 seconds, the second signal takes 39 seconds
and the third signal takes 60 seconds to
change the colour from green to red. The
durations for green and red colours are same.
At 2:00 p.m, they together turn green. At what
time will they change to green next,
simultaneously ?

(a) 4:00 p.m.
(b) 4:10 p.m.
(¢) 4:20 p.m.
(d 4:30 p.m.

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

Sourcing food from non-agricultural lands
(uncultivated systems such as forests, wetlands,
pastures, etc) in addition to agricultural lands
enables a systemic approach to food consumption.
It allows rural and tribal communities to sustain
themselves for the whole year and steer clear of
natural disasters and season-induced shortfalls
of agricultural food. Since the productivity of
trees is often more resilient to adverse weather
conditions than annual crops, forest foods often
provide a safety net during periods of food
shortages caused by crop failure; forest foods also
make important contributions during seasonal

crop production gaps.

51. Which one of the following statements best

reflects the most logical and rational message
conveyed by the author of the passage ?

(a) Food yielding trees should replace other
trees in rural and tribal areas and

community owned lands.

(b) Food security cannot be ensured in India
with the present practice of conventional
agriculture.

(¢) Wastelands and degraded areas in India
should be converted into agroforestry
systems to help the poor.

(d) Agroecosystems should be developed in
addition to or along with conventional
agriculture.

(27-A)
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52. Which one of the following statements best|53. Which one of the following statements best
reflects the most logical and practical message reflects the crux of the passage ?

conveyed by the passage ?

(a) To become a global power, India needs to

(a) It is necessary to put proper effluent invest in universal quality education.
treatment protocols in place.

(b) India is unable to become a global power

() It is  necessary to  promote because it is not focussing or promoting
environmental awareness among people. knowledge economy.

(c) Spread of drug-resistant bacteria cannot (¢) Our education system should focus more
be done away with, as it is inherent in on imparting skills during higher
modern medical care. education.

(d) Pharma-manufacturing companies (d) Parents of many school children are
should be set up in remote rural areas, illiterate and are unaware of the
away from crowded towns and cities. benefits of quality education.

XDTG-S-DNK (29-A)

Passage - 2

While awareness on use/misuse and
abuse of antibiotics is common knowledge, as
is the impact of dosing poultry with
antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.
The occurrence of drug-resistant bacteria

surrounding the pharma manufacturing

plants is well known.

Passage - 3

Benefits of good quality school education
accrue only when students complete and leave
school after having acquired the gateway skills.
Like one learns to walk before running, similarly
one picks up advanced skills only after picking
the basic foundational skills. The advent of the
knowledge economy poses new challenges, and
one of the severe consequences of having an
uneducated workforce will be our inability to
keep pace with the global economy. Without a
strong learning foundation at the primary level,
there can be no improvement in higher education

or skill development.
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57.
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(b)

(c)

(d)

(b)

(c)

(d)



54. 40 children are standing in a circle and one of | 57.
them (say child-1) has a ring. The ring is
passed clockwise. Child-1 passes on to child-2,
child-2 passes on to child-4, child-4 passes on
to child-7 and so on. After how many such
changes (including child-1) will the ring be in
the hands of child-1 again ?

(a) 14

b): 15

(¢ 16

@ 17

55. What is the middle term of the sequence

752, Y, Y, Y, X, X X X, We WaW oW, WA ?
(a H
h) 1
58.

(|

d M

56. Question : Is p greater than q ?

Statement-1: p X q is greater than zero.

Statement-2 : p? is greater than q?.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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Question : Is (p + q —r) greater than
(p—q + 1), where p, q and r are
integers ?

Statement-1: (p —q) is positive.

Statement-2 : (p —r) is negative.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone. :

(d) The Question cannot be answered even
by using both the Statements together.

In a party, 75 persons took tea, 60 persons
took coffee and 15 persons took both tea and
coffee. No one taking milk takes tea. Each
person takes at least one drink.

Question : How many persons attended the

party ?
Statement-1 : 50 persons took milk.
Statement-2 : Number of persons who

attended the party is five times
the number of persons who took
milk only.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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59.

Consider a 3-digit number.
Question : What is the number ?

The sum of the digits of the
number is equal to the product
of the digits.

The number is divisible by the
sum of the digits of the number.

Statement-1 :

Statement-2 :

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

The paradox of choice is illustrated by the
story of Buridan’s ass. Jean Buridan, the 14th
century philosopher, wrote about free will and
the inability to choose due to numerous choices
and uncertainties. In the story, a donkey stands
between two equally appealing stacks of hay.
Unable to decide which to eat, it starves to death.
Changes in technology and innovations such as
smart phones and tablets only exacerbate our
glut of choices. Constant connectivity and

overconsumption of real-time data and social

media can leave little room for self-reflection and

60. For five children with agesa <b <c<d < e
any two successive ages differ by 2 years. rest, making decisions more difficult. Life is
Question : What is the age of the youngest| about choices. Many people are overwhelmed
ild ?
child ¢ with attractive life choices, yet find themselves
Statement-1: The age of the eldest is 3 times h d :
the youngest. URSHPPY S
Statement-2 : The average age of the children | g1, Which one of the following statements best
is 8 years. . ; s
- o : reflects the most logical message implied by
Which one of the following is correct in respect s 5
of the above Question and the Statements ? the shove passage ¢
(a) The Question can be answered by using (a) Modern technology enfeebles societal
one of the Statements alone, but cannot structure and makes life difficult.
be answered using the other Statement VA Lk
fons (b) Modern life is full of uncertainties and
(b) The Question can be answered by using ehdlShs ISR wda oo
either Statement alone. (¢) We are influenced by the opinion of
(¢) The Question can be answered by using others and have no courage to follow our
both the Statements together, but own convictions.
cannot be answered using either
Statomint-alone: (d) In our lives, having too few choices may
(d) The Question cannot be answered even not be a good thing, but having too many
by using both the Statements together. can be equally as difficult.
XDTG-S-DNK (33-A)
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|
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JETIHATA & s U T ST |

39 qaurenst § ¥ HH-h d du ¥ 2

(a) 13N 2

(b) 134

() 334

d 233



Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if) one can make the

transition between them if necessary.

62. Regarding the financialization of household
savings, which of the following statements
best reflect the solutions that are implied by
the passage ?

1. A flexible environment is needed to
develop solutions.

2. Households need customised solutions.

3. Innovations in financial technology are
required.

Select the correct answer using the code given

below :

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

XDTG-S-DNK

63.

Passage - 3

Pharmaceutical patents grant protection to
the patentee for the duration of the patent term.
The patentees enjoy the liberty to determine the
prices of medicines, which is time-limited to the
period of monopoly, but could be unaffordable to
the public. Such patent protection offered to the
patentees is believed to benefit the public over
the
research and development (R&D), although it

longer term through innovations and
comes at a cost, in the nature of higher prices for
the patented medicine. The patent regime and
price protection — through a legally validated
high price for the medicine during the currency of
the patent — provide the patentee with a
legitimate mechanism to get returns on the costs

incurred in innovation and research.

Based on the above passage, the following
assumptions have been made :

1. Patent protection given to patentees puts
a huge burden on public’s purchasing
power in accessing patented medicines.

other countries for

products is

2. Dependence on

pharmaceutical a huge

burden for developing and poor countries.

3. Providing medicines to the public at
affordable prices is a key goal during the
public health policy design in many
countries.

4. Governments need to find an appropriate
balance between the rights of patentees
and the requirements of the patients.

Which of the above assumptions are valid ?

(@) 1land2
(b) 1land4
(¢) 3and4
(d 2and3

(35-A)
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66.

67.

65.
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et whten &, IR o495, 94: P, Q, R o o | 88

T | Y% Y97 & foru ferehan 37 100 & |
ferenfefai gro wmw e T st qurieni & § | #1S
ot foremeff n fafSm aliet & 999 wTHIH o Tehall
Bl nHI AR RE ?

(a) 16

(R

(e) 23

d 35

(36-A)

Pl H oo, R AT A F8 O
aft T # IWm W AR @faw ufgE gm
ufEfud s 8 | ot @ faftm ofiel @ 5@
foram S wehaT B, 39 TR R HIE oft @ Em
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e 24

d 36
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(b) 12
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Passage - 4

India should ensure the growth of the digital

economy while keeping personal data of citizens

secure and protected. No one will innovate in a

surveillance-oriented environment or in a place

where an individual’s personal information is

compromised. The ultimate control of data must

reside with the individuals who generate it; they

should be enabled to use, restrict or monetise it

as they wish. Therefore, data protection laws

should enable the right kind of innovation — one

that is user-centric and privacy protecting.

65.

XDTG-S-DNK

Based on the above passage, the following

assumptions have been made :

1. Protection of privacy is not just a right,
but it has value to the economy.

2. There is a fundamental link between
privacy and innovation.

Which of the above assumptions is/are valid ?

(a) 1lonly

(b) 2only

(¢ Bothland2

(d) Neither 1 nor 2

In an examination, the maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

(b): 17

() 23

(d 35

66.

67.

68.

(875K}

A flag has to be designed with 4 horizontal
stripes using some or all of the colours red,
green and yellow. What is the number of
different ways in which this can be done so

that no two adjacent stripes have the same

colour ?

(a) 12
(b) 18
© 24
(d 36

A rectangular floor measures 4 m in length
and 2:2 m in breadth. Tiles of size 140 cm by
60 cm have to be laid such that the tiles do not
overlap. A tile can be placed in any orientation
so long as its edges are parallel to the edges of
the floor. What is the maximum number of

tiles that can be accommodated on the floor ?

(a) 6
b 7
() EREE .
(@) 9

There are five persons P, Q, R, S and T each
one of whom has to be assigned one task.
Neither P nor Q can be assigned Task-1.
Task-2 must be assigned to either R or S. In

how many ways can the assignment be done ?

(a) 6

(b) 12
(c) 18
d 24
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69. There are large number of silver coins
weighing 2 gm, 5 gm, 10 gm, 25 gm, 50 gm
each. Consider the following statements :

1. To buy 78 gm of coins one must buy at
least 7 coins.

2. To weigh 78 gm using these coins one can
use less than 7 coins.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

70. Consider the following :

I. A+B means A is neither smaller nor
equal to B.
II. A -B means A is not greater than B.
III. A x B means A is not smaller than B.
IV. A+ B means A is neither greater nor
equal to B.
V. A + B means A is neither smaller nor
greater than B.
Statement: PxQ, P-T;T=R, R+S
Conclusion-1: Q=T
Conclusion-2: S+Q
Which one of the following is correct in respect
of the above Statement and the Conclusions ?
(a) Only Conclusion-1 follows from the
Statement.
(b) Only Conclusion-2 follows from the
Statement.
(¢) Both Conclusion-1 and Conclusion-2
follow from the Statement.
(d) Neither Conclusion-1 nor Conclusion-2
follows from the Statement.
XDTG-S-DNK

Directions for the following 3 (three) items :

Read the following three passages and answer the

items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

In India, while the unemployment rate is a

frequently used measure of poor performance of

the economy, under conditions of rising school

and college enrolment, it paints an inaccurate

picture. The reported unemployment rate is

dominated by the experience of younger Indians

who face higher employment challenges and

exhibit greater willingness to wait for the right

job than their older peers. The unemployment

challenge is greater for people with secondary or

higher education, and rising education levels

inflate unemployment challenges.

71.

(39-A)

Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a

function of rising education and

aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.
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(a) DACB

(b) CDAB

(0 DCCA

(d) DDCA

(40-A)



72.
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Passage - 2

“Science by itself is not enough, there
must be a force and discipline outside the
sciences to coordinate them and point to a
goal. It is not possible to run a course aright
when the goal itself has not been rightly
placed. What science needs is philosophy —
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers, precisely
like science, for lack of philosophy.
Philosophy bears to science the same
relationship which statesmanship bears to
politics movement guided by total
knowledge and perspective, as against
aimless and individual seeking. Just as the
pursuit of knowledge becomes scholasticism
when divorced from the actual needs of men
and life, so the pursuit of politics becomes a
destructive bedlam when divorced from
science and philosophy.”

Which one of the following statements best
reflects the most rational, logical and practical
message conveyed by the passage ?

(a) Modern statesmen need to be well
trained in scientific methods and
philosophical thinking to enable them to
have a better perspective of their roles,

responsibilities and goals.

(b) It is not desirable to have Governments
managed by empirical statesmen unless
well mixed with others who are
grounded in learning and reflect

wisdom.

(¢) As the statesmen/bureaucrats are the
products of a society, it is desirable to
have a system of education in a society
that focuses on training its citizens in
scientific method and philosophical

thinking from a very early age.

(d) It is desirable that all scientists need to
be philosophers as well to make their
work goal-oriented and thus purposeful

and useful to the society.

73.

74.

75.

Passage - 3

“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, I
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,
anger and guile, nor act unfairly toward one
another.”

Based on the above passage, which one of the
following terms best expresses the ultimate
goal of the state ?

(a)

Personal safety

(b) Health of body and mind

(¢) Communal harmony

(d) Liberty

What is the remainder if 2192 is divided by
6?

(a O

()5

) -2

d 4

Consider the sequence

ABC__ ABC_DABBCD_ABCD
that follows a certain pattern.
Which one of the following completes the

sequence ?

(a) DACB
(b) CDAB
(c0 DCCA
(d) DDCA

(41-A)
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76. AB and CD are 2-digit numbers. Multiplying
AB with CD results in a 3-digit number DEF.
Adding DEF to another 3-digit number GHI
results in 975. Further A, B,C, D, E, F, G, H, I
are distinct digits. If E = 0, F = 8, then what is
A+B+C equalto?

(a) 6
by T
e -8
@ 9

77. Consider the following statements in respect
of five candidates P, Q, R, S and T. Two
statements are true and one statement is
false.

True Statement : One of P and Q was selected
for the job.

False Statement : At least one of R and S was
selected for the job.

True Statement : At most two of R, S and T
were selected for the job.

Which of the following conclusions can be

drawn ?

1. At least four were selected for the job.

2. S was selected for the job.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2

XDTG-S-DNK
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Let P, Q, R, S and T be five statements such
that :

I. IfPis true, then both Q and S are true.
II.. IfR and S are true, then T is false.
Which of the following can be concluded ?

1. If T is true, then at least one of P and R
must be false.

2. IfQis true, then P is true.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

A cuboid of dimensions 7 cm X 5 cm X 3 cm is
painted red, green and blue colour on each
pair of opposite faces of dimensions
7em x:5:iem, b em x 3 em, 7 cm %3 em
respectively. Then the cuboid is cut and
separated into various cubes each of side
length 1 cm. Which of the following
statements is/are correct ?

1. There are exactly 15 small cubes with no
paint on any face.

2. There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 only

(¢c) Both1and?2
(d) Neither 1 nor 2

The letters of the word
“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many
positions of the letter/letters will remain
unchanged ?

(a) None
(b) One
(¢) Two
(d) Three
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